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Child Development and Pedagogy

1.	 Development of children proceeds from ...............  to 
............... 
(1)	 abstract; concrete.	 (2)	 general; specific.
(3)	 toe; head.	 (4)	 extremities; centre.

2.	 Assertion (A): Children from high income families 
spend their day very differently than children from 
low income families.

	 Reason(R): Childhood is not universal and there is a 
lot of diversity of childhoods.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true and (R) is false
(4)	 Both (A) and (R) are false

3.	 A child learners to grasp large things (such as a ball) 
with hands before learning to pick up a pea using 
pincer grasp. Which principal of development does 
this illustrate?
(1)	 Cephalocaudal	 (2)	 Proximodistal
(3)	 Equilibration	 (4)	 Conservation

4.	 Assertion (A): Children learn knowledge, skills, 
values, customs of the society by their parents only. 

	 Reason (R): socialization of children is a simple and 
linear process.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true and (R) is false
(4)	 Both (A) and (R) are false

5.	 Children in …… stage understand object 
permanence but do not realize that actions can 
be reversed and their judgments are based on 
immediate appearance of things.
(1)	 Sensori-motor	 (2)	 Pre-operational
(3)	 Concrete operational	 (4)	 Formal operational

6.	 For children who are in pre-operational stage 
teachers should:
(1)	 use concrete props and a lot of audio-visual 

materials.
(2)	 depict hierarchical relationships through 

complex diagrams.
(3)	 give abstract problems to work upon.
(4)	 give opportunities to solve problems that require 

hypothetical thinking.

7.	 Which of the following is a correct example of 
scaffolding?
(1)	 Dictating answers to questions
(2)	 Providing prompts and cues
(3)	 Offering materialistic rewards
(4)	 Enabling conditioning of stimulus-response

8.	 Lev Vygotsky believed that:
(1)	 learning is mere absorption of knowledge.
(2)	 learner is a controlled response to rewards.
(3)	 knowledge can be transmitted from the teacher 

to the students in a passive manner.
(4)	 knowledge is co-constructed in a zone of what 

the child can do independently and with support 
from others.

9.	 At which stage of Lawrence Kohlberg’s moral 
development theory do individuals reason that 
human rights and justice is most important even if 
they go against the societal laws?
(1)	 Obedience and Punishment Orientation
(2)	 Good boy-good girl orientation
(3)	 Authority and social-order maintaining 

orientation
(4)	 Universal Ethical Principles orientation

10.	 In a progressive classroom, learning:
(1)	 is a simple process.
(2)	 is a social process.
(3)	 can take place only through formal instruction.
(4)	 is conditional upon exams.

11.	 Which of the following is a correct Howard Gardner?
(1)	 Intelligence cannot be nurtured and grown.
(2)	 Each individual possesses different kinds (s) of 

intelligence.
(3)	 Intelligence quotient is a successful predictor of 

intelligence.
(4)	 People belonging to certain class are more 

intelligence than others.
12.	 At the primary level, National Education Policy 2020 

proposes ...............  as the medium of instruction 
across the nation.
(1)	 Hindi
(2)	 English
(3)	 Sanskrit
(4)	 Mother tongue / Home language

13.	 Flexible seating arrangement, learners working in 
groups, are characteristics of a:
(1)	 Behaviouristic classroom.
(2)	 Socio-constructivist classroom.
(3)	 Teacher centric classroom.
(4)	 Textbook centric classroom.



82�  Oswaal CTET Year-wise Solved Papers

14.	 What kind of pedagogy would enable a teacher to 
cater to individual differences among learners in her 
class?
(1)	 Standard and uniform
(2)	 Totally centered around exams
(3)	 Totally centered around textbooks
(4)	 Engaging and contextual

15.	 The aim of assessment according to National 
Education Policy 2020 is:
(1)	 testing rote memorization.
(2)	 measuring reproduction and recall.
(3)	 to support children in the process of learning.
(4)	 to arrive at parameters to compare children 

across the country.
16.	 Inclusion means:

(1)	 embracing all students irrespective of their social 
identities.

(2)	 ignoring the barriers that create undue effort 
and separation.

(3)	 promotion of discrimination and intolerance of 
differences.

(4)	 unequal opportunities of participation and 
engagement.

17.	 For successful inclusion of students belonging to 
diverse cultural backgrounds, which of the following 
should be avoided by the teacher?
(1)	 Acknowledge and respect every student.
(2)	 Give priority to the experiences of dominant 

groups.
(3)	 Incorporate diversity in the content of teaching.
(4)	 Practice cultural sensitivity in classroom.

18.	 Dyslexia is primarily associated with difficulty in:
(1)	 Reading	 (2)	 Singing
(3)	 Thinking	 (4)	 Walking

19.	 Which of the following practice will be effective 
in ensuring inclusion of students with learning 
disabilities?
(1)	 Allow only fixed mode of expression
(2)	 Attribute failure to lack of ability
(3)	 Give very long and frequent assignments
(4)	 Provide several alternatives for receiving 

information
20.	 Students with giftedness:

(1)	 absorb information quickly and accurately.
(2)	 are incapable of solving questions below their 

age-levels.
(3)	 have a tendency to opt for simple and easy tasks.
(4)	 lack intuitive understanding of the basics.

21.	 A teacher should ...............  her students for making 
intuitive guesses to answer a question.
(1)	 encourage	 (2)	 ignore
(3)	 punish	 (4)	 restraint

22.	 Which of the following should be avoided while 
helping students to elaborate on a recently learned 
concept?
(1)	 Acting out the relations between various sub-

concepts
(2)	 Creating examples and non-examples of the 

concept
(3)	 Apply the acquired information to new problems
(4)	 Writing on board and asking students to copy 

the same without understanding.

23.	 Students’ failure can be minimalized by 
implementing a curriculum which is ............... 
(1)	 connected to their social context.
(2)	 highly challenging and complex.
(3)	 irrelevant to their everyday life.
(4)	 moving from abstract to simple.

24.	 For meaningful learning to take place, it is important 
to:
(1)	 develop competitive culture in the classroom.
(2)	 give space to children’s views and experiences.
(3)	 present information in disconnected chunks.
(4)	 provide examples which are not related to 

student’s social context.
25.	 Which of the following should be avoided by a 

teacher while teaching a new concept to students?
(1)	 Ask them to find common attributes among 

given examples
(2)	 Present non-examples related to the concept
(3)	 Present the complex concepts first and then 

move to simpler ones
(4)	 Relate the new content with previous knowledge

26.	 After answering the questions based on recall of 
specific information a students is reflecting on 
what cues helped her. By doing so, the students is 
developing ............... 
(1)	 delayed imitation.	 (2)	 ego-centricism.
(3)	 meta-cognition.	 (4)	 over-justification.

27.	 A step-by-step prescription of achieving a goal is 
called ............... 
(1)	 an algorithm.	 (2)	 heuristics.
(3)	 means-end analysis.	 (4)	 mnemonics.

28.	 Misconceptions among students represent their 
............... .
(1)	 extremely flawed and irrational thinking process.
(2)	 higher-order emotional and intellectual abilities.
(3)	 native and intuitive understanding about 

concepts.
(4)	 severe cognitive deficiencies and neurological 

disorders.
29.	 Which of the following is likely to cause pride 

among students?
(1)	 When failure is seen as caused by oneself
(2)	 When failure is seen as caused by others
(3)	 When success is seen as caused by oneself
(4)	 When success is seen as caused by others

30.	 Which of the following statement is an example of 
Intrinsic motivation?
(1)	 I should study because it is important to 

understand the concept .
(2)	 I should study to avoid the punishment by 

teacher.
(3)	 I should study to gain first position in the 

competition.
(4)	 I should study to get praise and dominance over 

my peers.

Mathematics

31.	 How many hundreds are there in 25347?
(1)	 300	 (2)	 253
(3)	 2534	 (4)	 25300
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32.	 I am a 2-digit odd number and greater than 24 × 4.
	 My ones and tens digits are equal.
	 What number am I?

(1)	 87	 (2)	 88
(3)	 97	 (4)	 99

33.	 What is the difference of the place values of two 7s 
in the number 276875?
(1)	 69993	 (2)	 699730
(3)	 699970	 (4)	 69930

34.	 The product of 0.013 and 0.07 is equal to
(1)	 0.00091	 (2)	 0.0091
(3)	 0.000091	 (4)	 0.091

35.	 Read the data given in following table and select the 
correct statement:

The drink liked by 
children

Number of children

Milk 30

Coffee 25

Tea 35

Lemonade 10

(1)	 Children who like lemonade are 
1
5  

of the total 

number of children.
(2)	 Children who like coffee are one-fourth of the 

total number of children.
(3)	 The number of children who like tea is less than 

the number of children who like milk.
(4)	 The number of children who like coffee is more 

than the number of children who like milk.
36.	 What is the measure of the angle formed by the 

hands of the clock at 2’o clock?
(1)	 30°	 (2)	 45°
(3)	 60°	 (4)	 90°

37.	 Bincy wants to spend least amount on purchasing 
decorative items. Which of the following she should 
select to spend the least amount?
(1)	 16 dozen items at `18.50 each
(2)	 170 packets at `21.50 each
(3)	 12 dozen items at `25.00 each
(4)	 220 packets at `16.50 each

38.	 The table shows the change in the length of a plant 
(in cm) during different weeks:

Week Length of the plant (in cm)

Week 1 0.5

Week 2 2.7

Week 3 5.5

Week 4 8.6

Week 5 11.5
	 The length of the plant change the most from 

............... .

(1)	 Week 1 to week 2	 (2)	 Week 2 to week 3
(3)	 Week 3 to week 4	 (4)	 Week 4 to week 5

39.	 Meeta and Bunty were counting the faces (surfaces) 
of various shapes. The number of faces in a cube, 
cylinder, cuboid and sphere respectively are:
(1)	 8, 3, 8, 1	 (2)	 6, 4, 6, 1
(3)	 8, 4, 8, 1	 (4)	 6, 3, 6, 1

40.	 Which of the following fractions is less than 
7
8  

and 

greater than 
1
3

?
 

(1)
	

9
10 	

(2)
	

3
11

(3)
	

17
24 	

(4)
	

26
29

41.	 The average heights of five friends is 150 cm. If the 
heights of 4 of these friends are 153 cm, 150 cm, 
151 cm and 147 cm, then height of fifth friend is: 
(1)	 148 cm	 (2)	 149 cm
(3)	 150 cm	 (4)	 151 cm

42.	 Team A scored 368 runs in first innings and 458 runs 
in second innings. Team B scored 395 runs in first 
innings and 439 runs in second innings. Which team 
won the match and by how many runs?
(1)	 Team A, 18 runs	 (2)	 Team B 18 runs
(3)	 Team A, 8 runs	 (4)	 Team B, 8 runs

43.	 A train departs from New Delhi Railway station at 
5:30 on 28 September 2021 and reaches Chennai at 
21:50 the next day. What is the travel time taken by 
the train?
(1)	 40 hours 20 minutes
(2)	 45 hours 10 minutes
(3)	 42 hours 20 minutes
(4)	 41 hours 30 minutes

44.	 Identify a number, which is a multiple of 5 and 7 but 
not of 6, from the given options:
(1)	 210	 (2)	 280
(3)	 360	 (4)	 420

45.	 Which of the following letters have both horizontal 
and vertical lines of symmetry?
(1)	 E	 (2)	 T
(3)	 H	 (4)	 Y

46.	 Given below are two statements marked as 
Assertion (A) and Reason (R)

	 (A): A mathematics curriculum should be coherent.
	 (B): Students can see how the one mathematical idea 

connects with other, thus enabling them to develop 
new understanding and skills.
Choose the correct option:
(1)	 Both (A) and (R) are true and (R) is the correct 

reason of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

reason of (A).
(3)	 (A) is true but (R) is false.
(4)	 (A) is false but (R) is true.

47.	 Which of the following is an important feature of a 
constructivist classroom?
(1)	 Students solving problems given in the textbook 

based on the example solved.
(2)	 Teacher giving instructions to do an activity and 

students are repeating procedures explained by 
the teacher.

(3)	 Students are asked to sort the different objects 
given to them according to their attributes like 
colour, shape, size, weight, etc.

(4)	 Students are busy in copying questions that are 
solved on the blackboard in their notebooks.
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48.	 Which of the following is/are important feature/
features of a primary class textbook?
(a)	 Concepts should be linked to the daily life 

experiences of children.
(b)	 Concepts should be explained using only 

mathematical language and symbols.
(c)	 Focus should given on solving problems using 

formal algorithms.
(d)	 The concepts should be introduced with concrete 

examples wherever possible.
Choose the correct option:
(1)	 (a) and (c)	 (2)	 only (c)
(3)	 (b) and (d)	 (4)	 (a) and (d)

49.	 Which of the following is NOT a part of primary 
school curriculum?
(1)	 Tessellations	 (2)	 Fractions
(3)	 Linear equations	 (4)	 Regular 2-D shapes

50.	 Which of the following is NOT true about the 
Nature of Mathematics?
(1)	 Mathematical concepts are arranged in a 

hierarchical manner
(2)	 Mathematics is based on Inductive Reasoning
(3)	 Mathematical concepts are abstract in nature
(4)	 Mathematics has its own set of symbols, words 

and language
51.	 When asked to write ‘six thousand and fifty’ in 

numerals, a student wrote the answer as ‘650’. Which 
of the following statements is most appropriate for 
the given context?
(1)	 Student should be given 10 similar type of 

problems to solve.
(2)	 The concept of base 10 and place value should 

be strengthened using concrete materials.
(3)	 The teacher should give the right answer and 

move to the next question
(4)	 It’s a careless mistake, hence the teacher should 

not waste her time on such mistakes.
52.	 Which of the following will enhance problem-

solving abilities among learners?
(1)	 Solving problems based on solved examples 

given in the textbook.
(2)	 Solving problems by representing mathematical 

situations/problems through pictures, symbols, 
drawings etc.

(3)	 Solving problems given in a mental-math 
workbook.

(4)	 Emphasizing on solving problems using formal 
algorithms.

53.	 Which of the following concepts can be taught using 
Dienes Blocks?
(1)	 Addition, Place Value, Subtraction
(2)	 Addition, Place Value, Fraction
(3)	 Addition, Subtraction, Volume
(4)	 Place Value, Fractions, Shape

54.	 Raj Lakshmi was playing a game of marbles. She lost 
6 marbles in the game and is now left with 8 marbles. 
With how many marbles did she start the game?

	 The above situation is:
(1)	 A contextual question on addition
(2)	 A contextual question on subtraction
(3)	 A contextual question on division
(4)	 Not a contextual question

55.	 The purpose of mathematical puzzles is to promote:
(a)	 Drill and Practice
(b)	 Interest in Mathematics
(c)	 Problem solving skills
(d)	 Rigour in algorithms
Choose the correct option:
(1)	 (a) and (d)	 (2)	 only (d)
(3)	 (b) and (c)	 (4)	 (a) and (c)

56.	 There are five rules of Newman’s Error Analysis. 
They are given in random order.
(a)	 Comprehending the question
(b)	 Transformation to mathematical symbols
(c)	 Reading the question
(d)	 Interpreting the answer
(e)	 Performing mathematical procedures
Choose the option with the correct sequence:
(1)	 (a), (c), (e), (b), (d)	 (2)	 (c), (a), (b), (e), (d)
(3)	 (c), (a), (e), (d), (b)	 (4)	 (b), (a), (e), (d), (c)

57.	 Which of the following is an example of an open-
ended question?
(1)	 List five whole numbers between 136 and 142
(2)	 Sum of two numbers is 35. If one of the numbers 

is 16, what will be the other number?
(3)	 The length and breadth of a rectangle are in 

the ratio 3:5. If the perimeter of the rectangle is 
64 cm, find its length and breadth?

(4)	 List four numbers which are greater than the 
number formed by 7 tens and 8 ones.

58.	 Which of the following can be included in a 
Summative Assessment?
(1)	 Field trips
(2)	 Peer Assessment
(3)	 Term-End examination
(4)	 Anecdotal Records

59.	 “When asked to multiply 45 by 5, a student adds 
45 five times”. Which of the following statements is 
most appropriate with respect to the given context?
(1)	 The student does not have conceptual 

understanding of multiplication.
(2)	 The strategy used by student reflects her 

creativity as she is able to extend the knowledge 
of addition in multiplication.

(3)	 The strategy used by student cannot be used in 
written examination.

(4)	 The use of formal algorithm for multiplication 
needs to be emphasized over the use of informal 
strategies.

60.	 The National Curriculum Framework 2005 Position 
paper on Teaching Mathematics states, “Crude 
methods of assessment encourage perception of 
mathematics as mechanical computation”. Which 
of the following most appropriately explains the 
meaning of the given statement?
(1)	 The nature of assessment in mathematics has led 

to mathematics being referred to as comprising 
of only procedures and computational skills 
required to solve a problem.

(2)	 Only formative assessment methods should be a 
part of assessment in mathematics.

(3)	 Computational skills are important part of 
mathematics education hence should be taught 
through activities using concrete material.

(4)	 Computational skills in mathematics are not 
required at primary level hence should be 
focused upon in higher classes.
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Environmental Studies

61.	 The distance between Madgaon and Nagarcoil is 
nearly 1134 kilometers. If this distance is covered by 
a train in 21 hours, the average speed of the train 
between the railway stations of these two cities in 
metre per second is
(1)	 15	 (2)	 27
(3)	 30	 (4)	 54

62.	 A student is at A and wants to reach at B. For this 
he first goes to O which is 90m due north of A and 
then he goes from O to B by covering a distance of 
120m in due west direction. The minimum distance 
of A from B and the direction A with respect to B 
respectively are
(1)	 210 m : South-West	 (2)	 210 m : South-East
(3)	 150 m : South-East	 (4)	 150 m : South-West

63.	 Select true statement about sloth from the following:
(1)	 Sloths live for about 40 years and spend almost 

17 hours a day sleeping while hanging upside 
down on a tree branch.

(2)	 Sloths live for about 10 years and spend almost 
20 hours a day sleeping while hanging down on 
a tree branch.

(3)	 Sloths live for about 17 years and spend almost 
20 hours a day sleeping under a tree. They also 
eat the leaves of the some tree.

(4)	 Sloths live for about 10 years and spend almost 
20 hours a day sleeping while hanging on a tree 
branch. They also eat the leaves of the some tree 
on which they live.

64.	 Woollens keep us warm in winters. The reason for 
woollens being insulators is that
(1)	 Woollen fibres are tightly wrapped with each 

other and do not allow cold air to pass.
(2)	 Woollen fibres have air trapped within them and 

air is an insulator.
(3)	 Woollen fibres are thick and control the outside 

temperature.
(4)	 Woollen fibres are thick and do not allow cold air 

to pass through.
65.	 On the map of Golconda Fort printed in the textbook 

of class V, 1cm distance is equal to a distance of 110 
m on the ground. On this map the distance between 
Fateh Darwaja and Banjara Darwaja is 14.2 cm. On 
the ground the minimum distance between the two 
would be
(1)	 15.62 km	 (2)	 14.20 km
(3)	 1.562 km	 (4)	 1.420 km

66.	 A group of three states having Arabian Sea on one 
side is
(1)	 Kerala, Karnataka, Maharashtra
(2)	 Kerala, Karnataka, Andhra Pradesh
(3)	 Odisha, Andhra Pradesh, Maharashtra
(4)	 Maharashtra, Kerala, West Bengal

67.	 There is a dance in which people sit in pairs in front 
of each other, holding bamboos sticks on the ground. 
As the drum beats, the bamboos are beaten to the 
ground. The dancers step in and out of the bamboo 
sticks and dance to the beat. The name of the dance 
and the state where it is performed respectively are
(1)	 Torang : Mizoram	 (2)	 Kuduk : Jharkhand
(3)	 Cheraw : Mizoram	 (4)	 Jhoom : Jharkhand

68.	 The name of the fifth woman in the world and the 
first Indian woman to reach the peak of Mount 
Everest is
(1)	 Bachhendri Pal	 (2)	 Sunita Williams
(3)	 Karnam Malleshwari	 (4)	 Santosh Yadav

69.	 Select the correct statement from the following about 
the famous Indian festivals namely Holi and Diwali.
(1)	 Both are celebrated on full moon day  (Purnima).
(2)	 Both are celebrated on no moon day (Amavasya).
(3)	 Diwali is celebrated on full moon day and Holi is 

celebrated on no moon day.
(4)	 Diwali is celebrated on no moon day and Holi is 

celebrated on full moon day.
70.	 Consider the following statement in connection 

with ‘Desert Oak’.
(A)	This tree grows almost as tall as a general 

classroom wall.
(B)	 This tree is found in Abu Dhabi.
(C)	 The trunk of this tree stores water. Local people 

drink this water using pipes as and when need 
arises.

(D)	The roots of this tree go nearly 30 times its height 
till they reach water.

(E)	 This tree has large number of branches full of 
leaves.

	 The correct statements are
(1)	 A, C and D	 (2)	 A, B and D
(3)	 A, D and E	 (4)	 A, B, C and E

71.	 There are villages in our country where, because 
of frequent heavy rain, the villagers build their 
houses almost 10 to 15 feet (3 to 3.5 metres) above 
the ground on bamboo pillars. The inner sides of the 
houses are made of wood. These villages must be in
(1)	 Himachal Pradesh	 (2)	 Tamil Nadu
(3)	 Assam	 (4)	 Uttarakhand

72.	 Most of the common people of which one of the 
following states/union territory of our country 
prefer to eat boiled tapioca with any curry made 
using coconut
(1)	 Andhra Pradesh	 (2)	 Goa
(3)	 Tamil Nadu	 (4)	 Kerala

73.	 The best period for the people of Bihar state the 
process of bee-keeping is
(1)	 October to December	 (2)	 July to September
(3)	 April to August	 (4)	 January to March

74.	 In the context of nutrition of human beings, 
assimilation means
(1)	 absorption of digested food in the intestinal 

walls and entering the blood stream.
(2)	 absorbed material are transferred to different 

body parts.
(3)	 digested material is utilised in making complex 

substances in the body.
(4)	 the undigested material is not absorbed & sent 

to large intestine.
75.	 Consider about the soil of a field in which a farmer 

is growing paddy crop over and over again using 
excess of chemical fertilizers and pesticides in his 
fields. In your opinion this practice will make soil of 
the fields
(1)	 more fertile for other crops.
(2)	 fit for the paddy crops only.
(3)	 more suitable for multiple crops in a year.
(4)	 barren after some time.
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76.	 The purpose of home assignment in EVS is:
(1)	 Revision and reinforcement.
(2)	 Utilisation of time at home.
(3)	 Mastery of concepts learnt in school.
(4)	 Extension of learning.

77.	 Sheela has taken up sub theme ‘Animals’ to teach 
class – III students. Which of the following activities 
will be beneficial for extension of their learning.
(1)	 Reciting names of local animals from a poem.
(2)	 Seeing picture of zoo animals and local animals.
(3)	 Seeing animal in a zoo
(4)	 Seeing cut-outs of animals

78.	 Which is the most appropriate strategy to find out 
about festivals celebrated in the community that are 
linked with water ?
(1)	 Peer group learning.
(2)	 Watching videos on festivals of the community.
(3)	 Talking to the elders in the family and community.
(4)	 Discussing with the teacher.

79.	 Why are there no textbooks of EVS in class I and II ?
(1)	 Process skills of EVS are taught through games 

suggested in teacher’s handbook.
(2)	 Important concepts of EVS are taught through 

interactive activities conducted by teachers.
(3)	 Concepts and skills pertaining to EVS are taught 

through language and maths.
(4)	 Concepts and skills pertaining to EVS are taught 

through language teaching.
80.	 Which of the following is an example of socio-

cultural environment ?
(1)	 Water	 (2)	 Forests
(3)	 Monuments	 (4)	 Community

81.	 The approach of presenting EVS concepts at the 
primary level is such that students have to consult 
members of their family and community to find out 
about types of food, shelters, etc. The reason for this 
is:
(1)	 Students are close to their family and community.
(2)	 Family and community are more knowledgeable 

about food, shelter etc.
(3)	 Students’ socio – cultural background is a 

primary source of learning.
(4)	 Psychological principles of Piaget are based on 

social interactions for learning.
82.	 Which of the following strategy is most appropriate 

for teaching EVS to the cognitively impaired 
students.
(1)	 Make a mixed peer group in class.
(2)	 Develop more of audio lessons to teach.
(3)	 Break the tasks into parts and complete the parts 

separately.
(4)	 Use more of tactile teaching – learning materials.

83.	 Which is an important step to analyse the content of 
EVS in lesson planning ?
(1)	 Objectives of the content are framed.
(2)	 Resources to teach the content are identified.
(3)	 Assessment of instructional objectives are 

planned.
(4)	 Concept map is drawn.

84.	 The word ‘Comprehensive’ in continuous and 
comprehensive evaluation is related to
(1)	 Cognitive Level	 (2)	 Co-curricular Activities
(3)	 Holistic Development	(4)	 Scholastic Areas

85.	 Which is an examples of assessment for learning in 
EVS ?
(1)	 Student to find out coastal states of India on the 

map of India through work-sheets.
(2)	 Annual exams to promote students to next grade.
(3)	 Half-yearly test to find out the level of 

achievement of EVS concepts.
(4)	 Test at the end of each unit to inform their 

achievement to parents.
86.	 Select pedagogical practices to enhance experiential 

learning in EVS (according to NEP, 2020)
A.	 Focusing on key concepts of EVS.
B.	 Integrating of arts in pedagogy of EVS.
C.	 Integration of story-telling in teaching of EVS.
(1)	 A Only	 (2)	 B Only
(3)	 B & C Only	 (4)	 A & B Only

87.	 An EVS teacher asks her students to find out about 
eating habits, country of origin, external features 
such as size, colour, hair etc. of zoo animals on a visit 
to zoo. Through this activity, what process skills does 
she promote ?
(1)	 Observation, Questioning, Communication, 

Experimentation
(2)	 Questioning, Classification, Measurement, 

Communication
(3)	 Observation, Questioning, Sensitivity, 

Communication
(4)	 Questioning, Observation, Sensitivity, 

Experimentation
88.	 Which is a theme in EVS at primary level ?

(1)	 Water	 (2)	 Weather
(3)	 Materials	 (4)	 Animals

89.	 Which of these is a higher order question a teacher 
will select in assessment of EVS ?
(1)	 What are five roots we eat ?
(2)	 What would happen if there is no petrol and 

diesel on earth ?
(3)	 What is the green colour of leaves due to ?
(4)	 What are steps of harvesting wheat crop starting 

from sowing seeds ?
90.	 Five (5) groups of eight (8) students performed a 

skit each to depict ways of preserving wild life. 
Their creative expression and understanding of EVS 
concepts can be assessed most appropriately by
(1)	 Portfolios
(2)	 Rubrics to assess performance and understanding 

of EVS concepts.
(3)	 Observation and recording of performance.
(4)	 Pen-paper test after the performance to check 

the EVS concepts.

Language: English

Direction (91-99): Read the passage given below and answer the 
question that by choosing the correct/most appropriate options.
1.	 Development has indeed caused a high degree of 

environmental degradation in many countries and 
not just the displaced people but all of the population 
is beginning to feel the consequences. When the 
‘tsunami’ hit the South and South-East Asian coasts 
in 2004, it was observed that the destruction of 
mangroves and the building of commercial enterprise 
along the shore line was the reason for the greater 
extent of the damage caused. You must have read 
about global warming. The ice in the Arctic and 
Antarctic is melting because of increased emission of 
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greenhouse gases into the atmosphere and this has 
the potential to cause floods and actually submerge 
low lying areas like Bangladesh and the Maldives. In 
the long term, the ecological crisis will adversely affect 
all of us. Air pollution is already a problem which 
does not discriminate between the rich and the poor. 
But in the short term, indiscriminate use of resources 
tends to adversely affect the underprivileged more 
sharply. Loss of forest affects the poor who use forest 
resources for a variety of subsistence needs like 
firewood, medicinal herbs or food

2.	 Drying up of rivers and ponds and falling ground 
water levels means that women have to walk 
longer in order to procure water. The model of 
development we are pursuing is heavily dependent 
on the increasing use of energy. Most of the energy 
currently generated in the world is from non-
renewable sources like coal or petroleum. Large 
tracts of the Amazon rainforests are being deforested 
in order to provide for the increased consumer 
needs. Are there enough of these non-renewable 
resources which can allow not only the advanced 
countries but all people in the world to enjoy an 
affluent life style? Given the finite nature of these 
resources, the answer would be no. What about the 
future generations? Are we going to hand over a 
depleted earth and multiple problems to them?

91.	 What is meant by ‘Development‘ as the cause of 
environment degradation?
(1)	 Increasing population and changing life styles of 

the people.
(2)	 Mushroom growth of urban centres and human 

settlements.
(3)	 Deforestation, emission of greenhouse gases, 

construction of dams and skyscrapers.
(4)	 Increasing wealth and money-minded attitudes 

in modern society.
92.	 The Tsunami is a term taken from:

(1)	 The Japanese Language.
(2)	 The Chinese Language.
(3)	 The Arabic Language.
(4)	 The Korean Language.

93.	 The importance of mangroves is obvious from 
the first three lines of the passage. Which of the 
following supports this arguments?
(1)	 Mangroves belong to rare species of trees 

in coastal areas which are used in building 
construction.

(2)	 Mangroves are the ancient tribes who live in 
coastal area and protect the people against 
violent storms.

(3)	 The string root system of mangrove trees form a 
natural barrier against violent storm surges and 
floods in coastal areas.

(4)	 In coastal areas people used to worship 
mangroves as deity who protected them from 
natural disasters.

94.	 Which of the following is NOT a greenhouse gas?
(1)	 Carbon dioxide	 (2)	 Methane
(3)	 Chloroflurocarbon	 (4)	 Hydrogen

95.	 The most ferocious effect of global warming will be:
(1)	 increasing cases of skin cancer
(2)	 polluted water and health disorders
(3)	 increase in sea level and flooding of coastal areas
(4)	 Reduction in agricultural production	

96.	 Which of the following is nearest in meaning to the 
word ‘degradation‘ as used in the passage (Para 1)?
(1)	 disruption	 (2)	 destruction
(3)	 debasement	 (4)	 discrimination

97.	 Which of the following words is opposite in meaning 
to the word, ‘advanced‘ as used in the passage (para 
2)?
(1)	 poor	 (2)	 backward
(3)	 unskilled	 (4)	 traditional

98.	 Which part of speech is the underlined word in the 
following sentence?

	 Global warming is a matter of serious concern.
(1)	 Adjective	 (2)	 Noun
(3)	 Adverb	 (4)	 Pronoun

99.	 Which part of the following sentence contains no 
error?
If he had needed

(a)  
his father advice

(b)
He will not have faced

(c)  
this worrying situation.

(d)
(1)	 (c)	 (2)	 (a)
(3)	 (d)	 (4)	 (b)

Direction (100-105): Read the following extract and answer the 
questions by choosing the correct/most appropriate options:
	 Far from the madding crowd’s ignoble strife,
	 	 Their sober wishes never learn’d to stray;
	 Along the cool sequester’d vale of life
	 	 They kept the noiseless tenor of their way
	 Let not Ambition mock their useful toil,
	 	 Their homely joys, and destiny obscure;
	 Nor Grandeur hear with a disdainful smile
	 	 The short and simple annals of the poor.
	 The boast of heraldry, the pomp of pow’r,
	 	 And all that beauty, all that wealth e’er gave,
	 Awaits alike th’ inevitable hour.
	 	 The paths of glory lead but to the grave.
100.	 The inevitable hour refers to:

(1)	 the moment of death
(2)	 the time of punishment
(3)	 the days of calamities
(4)	 the divine of judgement

101.	 Which one of the following most appropriately 
describes the poetic spirit of the above stanzas?
(1)	 Political protest on behalf of the downtrodden 

and anger against the rich.
(2)	 A pessimistic philosophy of life.
(3)	 Lamenting the lot of the buried souls.
(4)	 The poet’s sympathy for the simple, poor 

villagers buried in the graveyard.
102.	 Read the following statements:

(a)	 The poet admonishes the high and mighty for 
mocking the poor.

(b)	 The poet advises the peasants not to complain 
about their lot.

(1)	 (a) is false and (b) is true
(2)	 (b) is false and (a) is true
(3)	 Both (a) and (b) are false
(4)	 Both (a) and (b) are true

103.	  Identify and name the figure of speech used in, ‘the 
cool sequester‘ d vale of life.
(1)	 Simile	 (2)	 Personification
(3)	 Metaphor	 (4)	 Metonymy
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104.	 Which of the following phrases cannot be associated 
with the simple humble peasants?
(1)	 boast of heraldry	 (2)	 destiny obscure
(3)	 simple annals	 (4)	 useful toils

105.	 The figure of speech used in “Let not Ambition mock 
their useful toil.“
(1)	 Personification	 (2)	 Hyperbole
(3)	 Simile	 (4)	 Alliteration

106.	 Ankita a teacher of class III finds that some learners 
prefer to get new information in written form 
instead of verbal information. Their learning style is:
(1)	 auditory	 (2)	 visual
(3)	 kinaesthetic	 (4)	 aesthteic

107.	 A teacher in class IV has given a task on role play 
where the learners are asked to exchange their idea in 
a given situation. Which skill is she trying to enhance?
(1)	 Acting	 (2)	 Writing
(3)	 Speaking	 (4)	 Reading

108.	 A teacher should use the learner’s mother tongue 
while teaching in the classroom because:
(1)	 Each child will learn at the same pace if they are 

taught in their mother tongue.
(2)	 Learners will answer all the questions if they are 

learning in their mother tongue.
(3)	  Learners will understand the new concepts 

easily and feel more accepted in the classroom.
(4)	 There will be least distraction in the class.

109.	 How can a teacher develop good writing skills in the 
budding writers?
(1)	 By giving clear instruction on the topic and word 

limit.
(2)	 By praising learners what they did well and 

making specific comments to improve further.
(3)	 By asking learners to write in a good handwriting.
(4)	 By giving learners detailed feedback only on 

their grammatical errors.
110.	 The purpose of formative assessment is:

(1)	 to make comparison between different students.
(2)	 labelling students as intelligent, average, or slow 

learners.
(3)	  to use a variety of ways to collect information 

about the students learning.
(4)	 to conduct class test regularly on weekly basis

111.	 For teaching children of class I, we should focus 
more on oral language development. Which of the 
following classroom practice will enable learners to 
enhance oral language skill at class?
(1)	 Role play	 (2)	 Grammar games
(3)	 Singing rhymes	 (4)	 Learning alphabets

112.	 A teacher is reading a story from a textbook about 
a girl who is looking after a sparrow and feeding it. 
Suddenly a boy Ali stands up and tells the teacher 
how one day he saved an injured squirrel which was 
lying in the park. Ali’s reaction to the story can be 
described as:
(1)	 connecting the text with his personal experience
(2)	 interrupting the teacher in between
(3)	 an opportunity to speak and show that he is 

active in the class
(4)	 his attention seeking nature in the class

113.	 A teacher has given a language task to be done in 
groups. What will be the role of a teacher during this 
group work?
(1)	 Ensure that the task is finished on time so she 

should remind them the time again and again.
(2)	 Ensure that everyone should participate in a 

group and try to support them if required.

(3)	 The teacher should give full autonomy to the 
groups, so she should sit aside on a chair.

(4)	 Ensure that students should not make noise in 
the class.

114.	 Reading comprehension is ability to:
(1)	 translate the written symbol into corresponding 

sounds
(2)	 perceive and decode letters in order to read it 

fluently
(3)	 construct meaning by interacting with text
(4)	 understand all the words in the text to 

understand its meaning
115.	 Which of the following type of questions on a test 

will be helpful for assessing the creativity of learners?
(1)	 One word questions	
(2)	 Open ended questions
(3)	 Multiple choice questions	
(4)	 True/false type of questions

116.	 Which of the following statements about language is 
true?
(1)	 It is a system of systems
(2)	 It is systematic
(3)	 It is rule of rules and exceptions
(4)	 It is an idea of ideas

117.	 Language is learnt best:
(1)	 in contexts	
(2)	 in isolation
(3)	 in alphabetical order
(4)	 when presented word by word

118.	 The purpose of diagnostic test in language learning 
is to:
(1)	 give feedback to the parents
(2)	 fill the progress report of students
(3)	 plan and prepare question paper for summative 

assessment
(4)	 know the group in learners understanding

119.	 In a child-centred classroom, the teacher should:
(1)	 explain the whole lesson sentence by sentence 

for the convenience of students
(2)	 dictate the answers to the questions so that 

students should feel at ease
(3)	 use such techniques in which students are 

encouraged to take initiative on their own
(4)	 demonstrates what a teacher expects from the 

students
120.	 In a constructivist classroom, language learning 

should be based on:
(1)	 drill and practice of grammatical items
(2)	 the transaction of the prescribed textbook by the 

teacher
(3)	 learners previous knowledge in constructing 

their new knowledge using authentic task
(4)	 the assumption that language can only be learnt 

if teacher transmits it to the learners

Language: Hindi

funsZ'k (121-128): fuEufyf[kr x|ka'k dks if<+, rFkk iwNs x, ç'uksa ds 
fy, mfpr mÙkj dk p;u dhft,µ

fiNys ik¡p lkyksa esa fBxus] detksj vkSj dqiksf"kr cPpksa dh la[;k esa 
c<+ksrjh gqbZ gSA ;g fLFkfr ,d n'kd ds lqèkkj ds ,dne myV gS] 
nqfu;kHkj esa cPpksa ds iks"k.k dks ekius ds pkj iSekus gksrs gSaµyEckbZ 
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ds fglkc ls ot+u de gksuk] yEckbZ de gksuk] lkekU; ls de ot+u 
gksuk vkSj iks"kd rRoksa dh deh gksukA dqiks"k.k dks mez ds fglkc ls 
yEckbZ de gksus dk vge dkj.k ekuk tkrk gSA 'kq#vkr esa ;fn cPps 
dh yEckbZ de jg xbZ] rks ckn esa mldh o`f¼ dh lEHkkouk csgn de 
jg tkrh gSA chrs dqN o"kks± esa xzkeh.k {ks=ksa esa vfr dqiksf"kr cPpksa dh 
la[;k esa deh vk;h FkhA
[kk| lqj{kk vkSj [kkus esa fofoèkrk dqiks"k.k nwj djus ds fy, t:jh 
gS] ;s nksuksa gh ckrsa lhèks vk; ls tqM+h gksrh gSaA leqfpr vk; ugha gksxh 
rks cPps vkSj ifjokj ds vU; lnL;ksa dks iks"k.k feyuk eqefdu ugha 
gSA ,slk vkdyu gS fd ns'k esa gj lky vdsys dqiks"k.k ls 10 yk[k ls 
T+;knk cPpksa dh ekSr gks tkrh gSA 'kgjh lEiUu oxZ ds cPpksa esa pqukSrh 
nwljh gSA ;gk¡ eksVkik c<+rk tk jgk gSA
bldh ,d cM+h otg nkSM+&Hkkx ds [ksyksa esa de fgLlk ysuk gSA ckgjh 
[ksyksa esa fgLlk ysuk 'kgjh cPpksa us igys gh de dj fn;k FkkA dksjksuk 
dky esa rks ;g ,dne can gks x;kA
121.	 'kgjh oxZ ds cPps fdl leL;k ls xqt+j jgs gSa\

(1)	 dqiks"k.k dh	 (2)	 otu de gksus dh
(3)	 eksVkis dh	 (4)	 Hkkstu dh deh dh

122.	 cPpksa ds iks"k.k dks ekius dk iSekuk ugha gSµ
(1)	 ot+u	 (2)	 yEckbZ
(3)	 iks"kd rRo	 (4)	 lkekftd Js.kh

123.	 foxr o"kks± esa xzkeh.k {ks= esa fdu cPpksa dh la[;k esa deh vkbZ 
Fkh\
(1)	 dqiksf"kr cPps	 (2)	 eksVkis ls xzLr cPps
(3)	 T+;knk oT+ku okys cPps	 (4)	 de yEckbZ okys cPps

124.	 dqiks"k.k dks nwj fd;k tk ldrk gSµ
	 (i)	 [kk| lqj{kk ls
	 (ii)	 [kkus esa fofoèkrk ls
	 (iii)	vkfFkZd vk; c<+kus ls

(1)	 dsoy ii vkSj iii	 (2)	 dsoy i vkSj ii
(3)	 dsoy iii vkSj i	 (4)	 ii vkSj iii

125.	 'kgjh cPpksa esa eksVkis dh leL;k dks nwj djus dk dkjxj mik; 
gksxk fd cPpksa dksµ
(1)	 de [kkus ds fy, çsfjr fd;k tk,
(2)	 nkSM+&Hkkx okys [ksyksa esa 'kkfey fd;k tk,
(3)	 iks"kd rRo okys Hkkstu djus ds fy, dguk
(4)	 mfpr fpfdRlh; lqfoèkk,¡ miyCèk djkuk

126.	 x|ka'k esa ------ vkSj ----- ds chp ds lacaèk ij çdk'k Mkyk x;k gSA
(1)	 vk;] eksVkis	 (2)	 iks"k.k] vk;
(3)	 iks"k.k] 'kgj	 (4)	 iks"k.k] [ksydwn

127.	 dkSu&lk 'kCn lewg ls fHkUu gS\
(1)	 dqiksf"kr	 (2)	 'kgjh
(3)	 fBxus	 (4)	 yEckbZ

128.	 vfr dqiksf"kr cPps esa ^vfr* 'kCn gSµ
(1)	 laKk	 (2)	 fØ;k&fo'ks"k.k
(3)	 fo'ks"k.k	 (4)	 çfo'ks"k.k

funsZ'k (129-135): uhps fn, x, x|ka'k dks è;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj ds :i esa mi;qDr fodYi dk p;u dhft,µ

vusd n`f"V;ksa esa iqLrdky; dk cgqr egÙo gSA dqN iqLrdsa cgqewY; 
gksrh gSa fdUrq mudk mi;ksx lkoZdkfyd gksrk gS tSls&fo'odks'k] egku 
,sfrgkfld] xazFk] lanHkZ xazFk vkfnA dbZ iqLrdsa ,d ckj i<+us ls O;fDr 
ds fy, iqjkuh iM+ tkrh gS vkSj mlds fy, iqu% mudk dksbZ egÙo ugha 
jg tkrkA çR;sd O;fDr dh bruh lkeF;Z ugha gksrh fd iqLrdksa ij 
lSdM+ksa gt+kjksa #i;s O;; dj ldsA bl deh dks iqLrdky; nwj djrs 

gSaA ys[kdksa vkSj vuqlaèkkudrkZvksa ds fy, rks iqLrdky; Kku&HkaMkj 
ls de ugha gksrs] ,d çdkj ds ojnku gh gksrs gSaA mUgsa vius fo"k; ls 
lacafèkr rF; çkIr djus ds fy, mi;qDr iqLrdsa iqLrdky; esa gh fey 
ldrh gSaA tulkèkkj.k ds fy, iqLrdky; Kkuo¼Zu vkSj euksjatu dk 
vuqie lkèku gSaA iqLrdky;ksa dk ftruk mi;ksx Kkuo`f¼ ds fy, fd;k 
tkrk gS mlls dgha vfèkd euksjatu ds fy, fd;k tkrk gSA
129.	 fuEufyf[kr esa ls dkSu&lh iqLrd lkoZdkfyd egÙo ugha gksrh gSa\

(1)	 fo'odks'k	 (2)	 egku ,sfrgkfld xazFk
(3)	 lrgh iqLrdsa	 (4)	 lanHkZ xzaFk

130.	 iqLrdky; fdlds KkuoèkZu rFkk euksjatu dk lkèku gSa\
(1)	 dsoy cPpksa ds	 (2)	 dsoy o`¼ksa ds
(3)	 fo}kuksa ds	 (4)	 tulkekU; ds

131.	 ^iqLdky;* dk lfUèk&foPNsn gSµ
(1)	 iqLrd + vy;	 (2)	 iqLrd + vky;
(3)	 iqLr + vky;	 (4)	 iqLrd + vky;

132.	 fuEufyf[kr esa ls dkSu&lh iqLrd dh fo'ks"krk ugha gS\
(1)	 cgqewY;	 (2)	 Kku
(3)	 euksjatu	 (4)	 veaxydkjh

133.	 iqLrdky;ksa dh vko';drk gksrh gS] D;ksafdµ
(1)	 çR;sd O;fDr iqLrdksa ij gt+kjksa #i, [kpZ ugha dj ldrk
(2)	 iqLrdky; lkekftd Lrj n'kkZrs gSa
(3)	 iqLrdky; esa gh iqLrdsa j[kh tk ldrh gSa
(4)	 iqLrdky; esa gh 'kkafr ls vè;;u fd;k tk ldrk gS

134.	 ^çR;sd* dk lafèk%foPNsn gSµ
(1)	 çR; + ,d	 (2)	 ç + ,d
(3)	 çfr + ,d	 (4)	 çR; + d

135.	 ys[kdksa rFkk vuqlaèkku drkZvksa ds fy, iqLrdky; ojnku gSa] 
D;ksafdµ
(1)	 ogk¡ mUgsa vius fo"k; ls lacafèkr tkudkjh çkIr djus ds fy, 

mi;qDr iqLrdsa çkIr gks tkrh gSa
(2)	 ogk¡ mUgsa cSBdj i<+us ds fy, LFkku fey tkrs gSa
(3)	 ogk¡ dsoy ys[kdksa vkSj vuqlaèkkudrkZvksa dks gh ços'k dh 

vuqefr gksrh gS
(4)	 ogk¡ ys[kdksa vkSj vuqlaèkkudrkZvksa dk lEeku fd;k tkrk gS

136.	 f'kf{kdk us d{kk IV ds fo|kfFkZ;ksa dks Ng&Ng ds lewgksa esa ck¡Vk 
vkSj mUgsa fcuk var okyh ,d y?kq dFkk nhA mlds ckn mlus 
dYiuk djus] ppkZ djus] vafre :i nsdj dgkuh dk var fy[kus 
ds fy, dgkA bl xfrfofèk ds }kjk f'kf{kdk muds fdl dkS'ky 
dk fodkl dj jgh gSa\
(1)	 fu;fU=r ys[ku	 (2)	 funsZf'kr ys[ku
(3)	 jpukRed ys[ku	 (4)	 mRikn ys[ku

137.	 Hkk"kk vfèkxe ds fy, 'kCndks'k ,d egÙoiw.kZ vkSt+kj gSA 
fuEufyf[kr esa ls dkSu&lk 'kCndks'k ds ç;ksx ds fo"k; esa lcls 
de egÙoiw.kZ gSa\
(1)	 fdlh 'kCn dh orZuh dk irk yxkuk
(2)	 fdlh 'kCn dk vFkZ <w¡<uk
(3)	 fdlh 'kCn dk deZokP; :i tk¡puk
(4)	 fdlh 'kCn ds ^Hkk"kk Hksn* dh tk¡p djuk

138.	 laKkukRed vfèkxe fl¼kUr fdl ij dsafær ugha gSa\
(1)	 euq"; varfuZfgr Hkk"kk ;a= ds lkFk tUe ysrs gSa
(2)	 =qfV;k¡ vfèkxe çfØ;k dk vfHkUu vax gSa
(3)	 Hkk"kk vknr fuekZ.k dh çfØ;k ds ekè;e ls lh[kh tkrh gS
(4)	 Hkk"kk rkfdZdrk rFkk ekufld çfØ;kvksa ds }kjk lh[kh tkrh gS
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139.	 Hkk"kk f'k{kd dks fo|kfFkZ;ksa esa ys[ku dkS'ky dk fodkl djrs gq, 
vko';d :i ls fdl ij è;ku dsfUær djuk pkfg,\
(1)	 vPNh fy[kkoV	 (2)	 O;kdj.k i{k
(3)	 'kCn lhek	 (4)	 fopkjksa dh vfHkO;fDr

140.	 d{kk I dh Hkk"kk dh ikB~;iqLrd esa igys i`"B ij esys ds n`'; dk 
fp= Nik gqvk gS ftlesa dksbZ 'kCn ;k okD; ugha fy[kk gqvk gSA

	 f'k{kkfFkZ;ksa ds fy, bldk D;k mís'; gS\
(1)	 fp=ksa dks ns[kus esa eT+kk vkrk gS	
(2)	 fp= dks le>uk rFkk fo'ys"k.k djuk
(3)	 mUgsa ,sls fp= cukus ds volj çnku djuk
(4)	 iqLrd iBu esa muds èkS;Z esa o`f¼ djuk

141.	 vfHkdFku (A): f'k{k.k dks d{kk esa lEçs"k.kkRed dk;Z ls lajpukvksa 
dks lac¼ djuk vko';d gSA

	 dkj.k (R): lEçs"k.kkRed dk;ks± dk vH;kl f'k{kkfFkZ;ksa dks lekt 
esa csgrj çn'kZu ds leFkZ cukrk gSA
(1)	 (A) rFkk (R) nksuksa lgh gSa rFkk (R), (A) dh lgh O;k[;k gSA
(2)	 (A) rFkk (R) nksuksa lgh gSa fdUrq (R), (A) dh lgh O;k[;k ugha 

gSA
(3)	 (A) lR; gS fdUrq (R) vlR; gSA	
(4)	 (A) vlR; gS fdUrq (R) lR; gSA

142.	 funsZf'kr jpuk lkekU;r% fdl ij çLrqr djuh pkfg,\
(1)	 vo;Dr Lrj ij	 (2)	 vkjafHkd Lrj
(3)	 fd'kksjkoLFkk ds Lrj ij	 (4)	 o;Ld ds Lrj ij

143.	 xgu iBu dk mís'; fdldks c<+kok nsuk gSa\
(1)	 vkuan ds fy, iBu	
(2)	 ijh{k.k ds iBu
(3)	 lwpuk ds fy, iBu	
(4)	 ys[kd ds fo"k; esa tkuus ds fy,

144.	 ;qfDr ds :i esa cgqHkkf"kdrk dk D;k vFkZ gSa\
(1)	 fo|ky; esa vusd Hkk"kkvksa dk f'k{k.k
(2)	 lHkh f'k{kkfFkZ;ksa dh ekr`Hkk"kkvksa dk f'k{k.k&vfèkxe
(3)	 f'k{kkfFkZ;ksa dh Hkk"kkvksa dk ç;ksx djuk
(4)	 f'k{kkfFkZ;ksa dks fons'kh Hkk"kk,¡ lh[kus esa leFkZ cukuk

145.	 iBu f'k{k.k'kkL= fdl ckr dk leFkZu djrk gSa\
(1)	 iBu dk eryc vFkZ xzg.k djuk gSA
(2)	 iBu dk eryc fyfi i<+uk gSA
(3)	 ikB~; lkexzh ds fopkjksa dk lkadsfrdj.k iBu gSA
(4)	 ys[kd cuus ds fy, iBu vko';d gSA

146.	 Hkk"kk vfèkxe esa ;qfDr ds :i esa dgkuh lqukus dk mís'; D;k gS\
(1)	 f'k{kkfFkZ;ksa dks uSfrd f'k{k.k nsuk gSA
(2)	 f'k{kdksa dks dgkuh ;kn djus esa leFkZ cukuk gSA
(3)	 f'k{kkfFkZ;ksa dks dgkuh ds iBu ds fy, leFkZ cukuk gSA
(4)	 f'k{kkfFkZ;ksa dks Hkk"kk lh[kus ds ekSds nsuk gSA

147.	 Hkk"kk vfèkxe ds fy, iwjd iBu ds :i esa y?kq dgkfu;ksa rFkk 
vU; o`Ùkkarksa ds laxzg dks lq>k;k x;k gSA iwjd iBu dk eq[; 
mís'; D;k gS\
(1)	 xgu iBu dks c<+kok nsuk	
(2)	 uSfrd vfèkxe dks c<+kok nsuk
(3)	 foLr`r iBu dks c<+kok nsuk
(4)	 vdknfed dkS'kyksa dks c<+kok nsuk

148.	 fuEufyf[kr esa ls fdl dfork dh d{kk esa ppkZ djus dh 
vko';drk ugha gSa\
(1)	 dfork ds fopkjksa vkSj Fkhe ij
(2)	 rqdcanh ij

(3)	 dkO; lkèkuksa ij
(4)	 O;kdj.k ij

149.	 Hkk"kk cksyus okyksa esa nwljh Hkk"kk@Hkk"kkvksa ds 'kCnksa vkSj okD;ksa dk 
ç;ksx lkekU; gSA bls D;k dgrs gSa\
(1)	 ladsr cnyuk o ladsr feyuk
(2)	 Hkk"kk lapj.k
(3)	 lanHkZ esa Hkk"kk	
(4)	 lkekftd Hkkf"kd O;ogkj

150.	 mipkjkRed f'k{k.k dk D;k vFkZ gSa\
(1)	 f'k{kkFkhZ ds vfèkxe dks lqèkkjuk
(2)	 f'k{kkfFkZ;ksa ds vfèkxe rFkk f'k{kdksa ds f'k{k.k nksuksa esa lqèkkj 

djuk
(3)	 ijh{k.k esa f'k{kkfFkZ;ksa ds fu"iknu esa lqèkkj djuk
(4)	 d{kk çn'kZu esa lqèkkj djuk
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Child Development and 
Pedagogy

1.	 Option (2) is correct.
Explanation: According to principle 
of development of children proceeds 
from general to specific. Here, the 
child tends to move his hands first 
and then starts using fingers. For 
instance, a child holds finger foods 
first that they hold by complete hands 
but after 7-8 months of age, they can 
easily pick food from their fingers.

2.	 Option (1) is correct.
Explanation: Childhood is not 
universal and there is a lot of 
diversity of childhoods. For example, 
children from high income families 
spend their day very differently than 
children from low income families. 
Different income makes different 
socio-economic divisions. Poor 
families may have less resources to 
provide to their children which may 
act as hindrance in their learning 
experiences.

3.	 Option (3) is correct.
Explanation: Proximodistal refers to 
the development proceeding from 
central part to the periphery. For 
example a child could use his arms 
before using hands.
l	 Cephalocaudal refers to the 

development proceeding top to 
bottom i.e. from head to toe. For 
example, child begins to gain 
control over his head before 
gaining control of crawling or 
walking.

l	 Equilibration refers to ongoing its 
transforming of mental structures 
on basis of cognitive abilities.

l	 Conservation refers to ability to 
understand quantity will remain 
same even it the shape changes.

4.	 Option (4) is correct.
Explanation:
l	 Children learn knowledge, skills, 

values, customs of the society by 
socialising from all major agents 
like family, peer, mass media, 
school, neighbourhood, etc.

l	 Socialization is a complex process 
in which several agencies makes 
an impact on children throughout 
life as everytime child enters a new 
social company, he grasps and 
learns many things from them.

5.	 Option (2) is correct.
Explanation: According to Piaget, 
children’s cognitive abilities have 
major four stages—

(i)	 Sensori motor (Birth – 2 years): 
Here, infants are active learners 
who responds with stimulation.

(ii)	 Pre-operational (2-7 years): 
Here, the child begins to think 
symbolically. They tend to 
develop images of things in 
their mind and then act.

(iii)	Concrete operational (7-11 
years): Here, child develop 
logical thinking. Also can 
understand concepts like 
reversibility and conservation.

(iv)	Formal operational stage 
(11 years+): Here, children 
can think abstractly and is 
comfortable is solving all types 
of problems.

6.	 Option (1) is correct.
Explanation: In pre-operational 
stage (2-7 years) children develops 
ability to think symbolically. They 
are ego-centric and learn through 
symbols. Teacher should use 
concrete props and audio-visual aids 
to enhance learning experience. It 
maximizes the thought process and 
makes it interesting for learners.

7.	 Option (2) is correct.
Explanation: Scaffolding is a 
teaching method where teachers 
actively support and guide 
learners in their learning process 
by providing cues, prompt and 
suggestions, to help learners build 
their understanding and skills.

8.	 Option (4) is correct.
Explanation: Lev Vygotsky explains 
about zone of proximal development 
in which he explains that—
(i)	 Child can achieve maximum 

outcomes with the help of peers 
or teachers.

(ii)	 Learning become more 
enthusiastic for them.

(iii)	It is constructed within a zone.
9.	 Option (4) is correct.

Explanation: Lawrance Kohlberg’s 
moral development theory level 3 
of post conventional morality has 2 
levels i.e.,
l	 Social contract and individual 

rights.
l	 Universal ethical principle 

orientation i.e. explaining about 
human rights and justice is more 
important even if they go against 
the societal laws. 

NOTE: Lawrance Kohlberg  gave 3 
levels and 6 stages.

10.	 Option (2) is correct.
Explanation: Progressive classroom 
is the classroom where learners 

actively participate in the class. They 
learn through experiencing it. It 
uses flexible method to teach with 
collaboration of peers and teachers. 
It enhances critical thinking and 
problem solving skills. It focus on 
learning via observing, analyzing 
it. It is a social process as it requires 
help from other numbers to join and 
make understanding better.

11.	 Option (2) is correct.
Explanation: Howard Gardner 
explains about theory of multiple 
intelligences. He states that learning 
is a complex process and has various 
level in it. According to him, each 
individual possess different kind 
of intelligence. Application of 
knowledge here is to deal with new 
situations in respect to interest of the 
learners. Howard Gardner described 
8 types of intelligence.

12.	 Option (4) is correct.
Explanation: National Education 
Policy 2020 proposes mother-tongue 
as the medium of instruction across 
the nation because:
(i)	 It builds confidence among 

learners.
(ii)	 It helps to understand the 

concepts well.
(iii)	 Can use other languages also 

with help of mother tongue.
13.	 Option (2) is correct.

Explanation: Social-constructivism 
classroom is where learners grab the 
knowledge with the help of peers. 
It consider knowledge as a social 
construct and focuses on cognitive 
development of a child. It provides 
democratic experience to the 
learners to acquire new knowledge 
and concepts.

14.	 Option (4) is correct.
Explanation: To cater individual 
differences among learner, pedagogy 
should be engaging and contextual. 
As it will arouses the interest of 
the students which will lead to 
better understanding. It will make 
education more holistic, discovery-
oriented and fun. Here, the teacher 
also participates in the classroom in 
an interactive way throughout the 
session.

15.	 Option (3) is correct.
Explanation: National Education 
Policy (2020) focuses on child-
centered learning. It suggests that 
child should actively participate in 
classroom and not just became the 
passive learners while the teacher 
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teaches. The aims of assessment 
according to NEP 2020 are:
(i)	 to support children in the 

process of learning.
(ii)	 to provide appropriate 

remedies for improvement.
(iii)	 to cover all kinds of 

development of the children 
throughout the session.

(iv)	 to cover self-assessment as well 
as progress of the child in non-
scholistic areas.

16.	 Option (1) is correct.
Explanation: Inclusive education 
refers to the education where 
all children are given equal 
opportunities to learn irrespective 
of their color, caste, creed or gender.
It has following features:
(i)	 It embraces all students 

irrespective of their social 
identities.

(ii)	 Acceptance of usage of mother-
tongue in classroom.

(iii)	 No discrimination or partiality 
among learners.

(iv)	 Usage of specific teaching tools 
according to the individuals 
needs.

(v)	 Curriculum according to the 
individual requirements in the 
classroom.

17.	 Option (2) is correct.
Explanation: For successful inclusion 
of student from diverse background, 
a teacher should:
(i)	 Acknowledge and respect 

the cultural diversity among 
students.

(ii)	 Practice cultural sensitivity in 
classroom.

(iii)	 Accept multilingualism in the 
classroom.

Here, giving priority to experiences 
of dominant group should be 
avoided by the teacher.

18.	 Option (1) is correct.
Explanation: Dyslexia is a 
reading disorder where learners 
find difficulty in reading and 
comprehending the text. It is an 
inability to grasp words that are 
similar in visibility or spelling and 
also difficulty in understanding 
sound and shapes of the words.

19.	 Option (4) is correct.
Explanation: To curb the learning 
disabilities among students, we 
should:
(i)	 provide several opportunities 

to express the views.
(ii)	 ensures active engagement of 

them.
(iii)	 provide several alternatives for 

receiving information.
(iv)	 should use various tools and 

methods to teach students.
20.	 Option (1) is correct.

Explanation: Gifted children are 
those:
(i)	 gifted children are those who 

excel academically.

(ii)	 absorb information quickly and 
accurately.

(iii)	 can handle questions of high 
difficulty level.

(iv)	 exhibits superiority in all 
scholastic areas.

(v)	 shows creativity while solving 
questions.

21.	 Option (1) is correct.
Explanation: A teacher should 
always encourage her students to 
make intuitive guesses to answer a 
question as it will:
(i)	 boost up their confidence level.
(ii)	 increase their imagination and 

more creativity could be seen.
(iii)	 assessment of learning can be 

done.
22.	 Option (4) is correct.

Explanation: Teacher should never 
ask students to copy the work 
without understanding as it will 
have a negative impact on student’s 
mind. Teacher should always engage, 
explore, explain, elaborate and 
evaluate according to constructivist 
theory of learning. The main thing is 
that this will shows the passiveness 
of the students.

23.	 Option (1) is correct.
Explanation: A curriculum should 
always be planned connected to 
student’s social context. Student’s 
always learn from their environment. 
It will provide real-life experience 
to them and also provide stability 
in their young minds, as they tend 
to learn more by observation and 
interaction. Curriculum should also 
be prepared according to the needs 
of individual’s so that none can be 
failure.

24.	 Option (2) is correct.
Explanation: For meaningful 
learning, following steps should be 
taken:
(i)	 give space to children’s views 

and experiences.
(ii)	 provide real-life learning 

experiences.
(iii)	 providing group projects for 

better knowledge absorption.
(iv)	 focus on learner’s difficulty 

should be there.
(v)	 active-engagement of learners 

should be encouraged.
25.	 Option (3) is correct.

Explanation: Teacher should never 
teach complex concepts first while 
teaching new concepts, as student 
may loose their interests and might 
get scared from the further learning. 
It will demotivate them and will 
reduce their curiosity to learn. 
Teacher should always move from 
simplex to complex while teaching 
new concepts. For example: If you 
teach a topic 'noun' you have to 
relate 'noun' topic with real-life 
example then tell them definition to 
make simpler.

26.	 Option (3) is correct.
Explanation: Metacognition is 
a thought process about one’s 
own thought and learning. They 
are important as they make one 
observe about self cognitive process 
and abilities to work upon. The 
ability of students to recall specific 
information also contributes to the 
development of metacognitive skills.

27.	 Option (1) is correct.
Explanation: An algorithm is a 
problem-solving method in which 
steps are followed sequentially 
to achieve desired results. For 
instance when we have to operate 
a new machine, we have to follow 
instructions step by step in a given 
sequence. It also involves breaking 
down the steps to make it easier for 
learners to work upon on for desired 
outcomes.

28.	 Option (3) is correct.
Explanation: Misconception 
is a thought process that goes 
in the wrong direction or not 
according to the facts. It can be 
due to lack of information or low 
focus. Misconception in students 
represents their thoughts and 
understanding about concepts 
which should be cleared by teachers 
as they may took it favoured in their 
mind always.

29.	 Option (3) is correct.
Explanation: Pride is felt when 
success is perceived as a result of 
one's own efforts. It suggests that 
students are actively engaging 
themselves in the class and also 
earned better experience. It comes 
when learner achieved their goals 
with some efforts made by them.

30.	 Option (1) is correct.
Explanation: Motivation is of two 
types:
(i)	 Extrinsic motivation: It is when 

individual is doing something 
to achieve goal for earning a 
reward or avoid punishment. 
It comes from outside the 
individual.

(ii)	 Intrinsic motivation: It is when 
individual is doing something 
for self-satisfaction and 
rewarding personally. It comes 
from inside the individual.

Mathematics
31.	 Option (2) is correct.

Solution: We try to make 25347 in 
the terms of hundreds:

Hundreds Tens Ones

253 4 7

Therefore, according to above table, 
there are 253 hundreds in 25341.
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32.	 Option (4) is correct.
Solution: It is a 2-digit number and 
has to be greater than 24 × 4 = 96. 
So, the values can be 97, 98 and 99.
According to the question, ones and 
tens digit is same.
Therefore, 99 is the solution.

33.	 Option (4) is correct.
Solution: Place value refers to the 
position of the digit in a number..
For example, in the number 875, 
5 is at the unit place, 7 is at tens 
place and 8 is at hundreds place. 
Therefore, we can write it as
		  875	 = 800 + 70 +5.
According to the question, the place 
value of 7 in 276875 is 70 and 70,000.
Difference between 70,000 and 70
			   = 70,000 – 70
			   = 69930

34.	 Option (1) is correct.
Solution:
		  Product	 = 0.013 × 0.07

			 
� �

13
1000

7
100

			 
=

91
100000

			   = 0.00091
35.	 Option (2) is correct.

Solution: According to data, total 
number of children		
			   = 30 + 25 + 35 + 10
			   = 100
Ratio of children who like milk to 
total no. of children

			 
= =

30
100

3
10

Ratio of children who like coffee to 
total no. of children

			 
= =

25
100

1
4

Ratio of children who like tea to 
total no. of children

			 
= =

35
100

7
20

Ratio of children who like lemonade 
to total no. of children			 

			 
= =

10
100

1
10

So the correct answer is option (2) 
Children who like coffee are one-
fourth to total number of children.

36.	 Option (3) is correct.
Solution: At 2’o clock, one hand 
of the clock will be at 12 and other 
hand of the clock will be at 2.
The angle between two digits 
(hands)
			   = 30°
Therefore, angle formed by the 
hands at 2’o clock
			   = 2 × 30° = 60°

37.	 Option (1) is correct.
Solution: Let’s find the total cost in 
all the options.

Option 1:
		  1 dozen	 = 12 items
⇒		  16 dozen	 = 16 × 12
			   = 192
Here, 	 cost of 1 items	 = Rs. 18.50
Therefore, total cost of 192 items
			   = 192 × 18.50
			   = Rs. 3,552
Option 2:
	 Number of packets	 = 170
Since,	 Cost of 1 item	 = Rs. 21.50
Therefore, total cost of 170 items
		  = 170 × 21.50
		  = Rs. 3,655
Option 3:
	 12 dozen	 = 12 × 12
		  = 144
Since,	 Cost of 1 item	 = Rs. 25
Therefore, total cost of 144 items
		  = 144 × 25
		  = Rs. 3,600
Option 4:
	 Number of packets	 = 220
Since,	 Cost of 1 item	 = Rs. 16.50
Therefore, total cost of 220 items
		  = 220 × 16.50
		  = Rs. 3,630.
So, according to the above 
calculations, Bincy will spend the 
least amount by choosing option 1.

38.	 Option (2) is correct.
Solution: Let’s find the difference in 
the length for all the options.
Option 1: Week 1 to week 2
		  Difference	 = 2.7 – 0.5
			   = 2.2 cm
Option 2: Week 2 to week 3
		  Difference	 = 5.8 – 2.7
			   = 3.1 cm
Option 3: Week 3 to week 4
		  Difference	 = 8.6 – 5.8
			   = 2.8 cm
Option 4: Week 4 to week 5
		  Difference	 = 11.5 – 8.6
			   = 2.9 cm
Therefore, the length of the plant 
changes the most from week 2 to 
week 3 = 3.1 cm

39.	 Option (4) is correct.
Solution:

Cube Cylinder Cuboid Sphere

Fa
ce

s

6 
sq

ua
re

1 
re

ct
an

gu
la

r
2 

ci
rc

ul
ar

6 
re

ct
an

gu
la

r

1 
fa

ce

D
ia

gr
am

Therefore, according to the above 
calculations, the number of faces in 
a cube, cylinder, cuboid and sphere 
are 6, 3, 6, 1.

40.	 Option (3) is correct.
Solution: 			 

Here,
	

9
10 	

= 0.9

		

3
11 	

= 0.2727

		

17
24 	

= 0.70833

		

26
29 	

= 0.8965

Also, the value of
 

7
8  

= 0.875 and 1
3  

= 0.3333. 
Therefore, the fraction that is 

less than 7
8  

and
 

greater than
 

1
3  

=0.70833 = 17
24

41.	 Option (2) is correct.
Solution: Given, the average height 
of 5 friends is 150 cm.
Let the height of fifth friend is X cm.
Sum of all the heights

Number of friends
			   = Average height

⇒
		

153 150 151 147
5

+ + + + X

			   = 150
⇒		  601 + X	 = 150 × 5
⇒		  601 + X	 = 750
⇒		  X	 = 750 – 601
			   = 149 cm
Therefore, the height of fifth friend 
is 149 cm.

42.	 Option (4) is correct.
Solution: Total runs scored by Team 
A in both the innings
			   = 368 + 458
			   = 826
Total runs scored by Team B in both 
the innings 
			   = 395 + 439
			   = 834
Therefore, Team B has scored more 
runs
	 Difference	 = Team B score �
� – Team A score
			   = 834 – 826
			   = 8 runs

43.	 Option (1) is correct.
Solution: Train departs at 5:30 am 
on 28th September, 2021.
Train reaches at 21:50 pm on 29th 
September, 2021.
Total time taken on 28th September, 
2021
	 = 5:30 am to 12:00 noon �
� + 12 pm to 12:00 midnight 
	 = 6 hours 30 minutes �
� + 12 hours
	 = 18 hours 30 minutes.
Total time taken on 29th September, 
2021
	 = 12:00 midnight  to 21:50 pm
	 = 21 hours 50 minutes
Therefore, total time
	 = 18 hours 30 minutes �
� + 21 hours 50 minutes
	 = 40 hours 20 minutes
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44.	 Option (2) is correct.
Solution:
Rules: If a number is divisible by 2 
and 3 both, then only it is divisible 
by 6.
n	 A number has to be even to be 

divisible by 2.
n	 A number is divisible by 3, if 

the sum of all the digits of the 
number is divisible by 3.

n	 A number is divisible by 5 and 7 
only if it is divisible by their LCM 
or multiple of their LCM.LCM of 
5 and 7 = 35.

N
um

be
r

210 280 630 420

Pr
im

e 
fa

ct
or

is
at

io
n 2 210

3 105
5 35
7 7

1

2 280
2 140
2 70
5 35
7 7

1

2 630
3 315
3 105
5 35
7 7

1

2 420
2 210
3 105
5 35
7 7

1

According to the above calculations, 
all the options are a multiple of 5 
and 7. All the options except option 
2 which is 280 are a multiple of 2 and 
3 both which means it is divisible by 
6.

45.	 Option (3) is correct.
		 Option 1	 Option 2

		  	
		 Option 3	 Option 4

		  	
	 According to the above table, the 

letter that has both horizontal and 
vertical lines of symmetry is H.

46.	 Option (1) is correct
Explanation:
(A) is true as one can understand 
mathematics only if the mathematics 
curriculum is transparent & easy to 
understand. It is applicable for both 
teachers & students as then only 
teachers can teach mathematics in a 
better and understandable way and 
students can gather the knowledge 
of the concepts of mathematics.
(R) is true and correct reasons 
of (A) as when the curriculum is 
transparent and coherent, then 
the students can easily understand 
the concepts which will help 
them in connecting one idea with 
other & therefore, enhancing 
their knowledge from one level to 
another.

47.	 Option (3) is correct.
Explanation:
n	 As per constructivists classroom, 

crystal clear understanding is an 
important feature of learning. 

Here, the teacher explains new 
concepts based on the prior 
knowledge of students.

n	 In a constructivist classroom, it 
is believed that both the teacher 
and students have equal roles in 
learning.

n	 Peer review and understanding 
plays an important role here. 
Students are allowed to freely 
put their ideas forward & have a 
discussion with their peers.

n	 They try to relate their ideas to 
different theories and contexts.

Therefore, option (3) is correct as no 
instructions have been given or not 
following a particular approach or 
copying anything.

48.	 Option (4) is correct.
Explanation: Text book is considered 
as the most important source of 
knowledge for all.
Features of a primary textbook are:
n	 Concepts should be in such a 

way that it can be connected 
to the daily life experiences of 
children.

n	 Textbook should make sure that it 
helps in achieving different levels 
of proficiency. It should clearly 
depict what has been expected 
from both teachers and students.

n	 The content should have wide 
variety of subjects and should be 
fascinating, clear and motivating.

n	 Different concepts should be 
explained by giving examples.

n	 Text should be transparent and 
easy to understand.

So, as per the above features, option 
(4) should be correct. Therefore, 
option (4) is correct.

49.	 Option (3) is correct.
Explanation:
n	 Option 1 - Tessellations: It 

refers to a pattern that covers 
two dimensinal and three 
dimensional plane by repeating 
itself with no gaps and overlaps. 
It makes learning process 
interesting for students.

n	 Option 2 - Fractions: It provides 
a base for different concepts in 
mathematics like percentage, 
therefore, will be an important 
part of curriculum.

n	 Option 3 - Linear equations: It 
is a difficult concept for primary 
children and requires a certain 
level of ability to understand 
this. Therefore, it is not a part of 
primary school curriculum.

n	 Option 4 - Regular 2-D Shapes: 
It is one of the important 
concept as it helps students in 
understanding different shapes & 
helps in their growth. Therefore, 
it should be included.

50.	 Option (2) is correct.
Solution: Mathematics exists 
everywhere in our lives. Every 

person uses the concepts of 
mathematics in his daily life. Talking 
about the nature of mathematics:
n	 Representative: Mathematics has 

its own representation, symbols 
etc.

n	 Objective and Reasoning: 
Concepts in mathematics are 
objective and have deductive and 
inductive reasoning.

n	 Form: It has its own form and 
composition.

n	 Hierarchical: Hierarchiacal 
approach is used in the concepts 
of mathematics.

n	 Abstract concepts: Mathematical 
concepts are abstract in nature.

51.	 Option (2) is correct.
Explanation: According to the 
question, the student has not 
implemented the place value 
concept, therefore,
n	 The concept of place value needs 

to be taught again through real 
life experiences.

n	 Base 10 and place value concepts 
needs to be taught using concrete 
materials.

n	 The students requires a lot of 
practicing to understand these 
concepts in a better way.

52.	 Option (2) is correct.
Explanation:
n	 Problem-solving is an activity 

that can be done alone or in 
a group. It is effective when 
there is a room for discussion. 
It helps in building different 
levels of thinking and knowledge 
enhancement.

n	 In problem-solving, student 
should try to understand the 
problem and different scenarios.

n	 Student should try to solve 
problems through mathematical 
representation by using pictures, 
drawings, symbols etc.

n	 Student should consider the 
link between different aspects of 
situation.

n	 Student should try to understand 
the data.

n	 Student should try to find 
an action plan using various 
techniques.

So, option (2) will help in enhancing 
problem-solving ability.

53.	 Option (1) is correct.
n	 Dienes Blocks are one of the most 

important material used in the 
teaching process of mathematics.

n	 Dienes Blocks help in the 
understanding of place value 
concept.

n	 It is used for understanding 
mathematical concepts like place 
value, substraction, addition.

54.	 Option (1) is correct.
Explanation: Contextual questions 
are used as a way of teaching which 
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helps children in understanding 
concepts by relating to real life 
experiences.
In this question, Raj Lakshmi has 
been asked to find the number of 
marbles with which she started the 
game where:
She lost 6 marbles
Remaining marbles are 8.
Therefore, the solution can be found 
by adding the values			 
			   = 6 + 8 = 14
Therefore, it shows that it is 
a question of addition where 
contextual question has been used.

55.	 Option (3) is correct.
Explanation:
n	 Mathematical puzzle refers to an 

activity that helps in enhancing 
the problem solving ability of a 
student in mathematics subject. 
It helps students in thinking 
logically and out of the box.

n	 It does not create competition 
between students but help 
them in thinking out of the 
box solutions that fulfils the 
conditions.

n	 It help in creating interest in 
mathematics.

n	 Drill and practice is an activity 
that focuses on enhancing 
the knowledge of a particular 
concept or skill.

n	 Rigour in algorithms refers to 
the knowledge that focuses on 
mathematical language that can 
be used to communicate.

56.	 Option (2) is correct.
Explanation: Newman’s Error 
Analysis states that in order to solve 
any word problem in mathematics, 
a student has to go through five 
stages. The order of Newman’s Error 
Analysis is:
n	 Reading: It talks about the error 

that take place because the 
student is unable to understand 
and read the question (words 
and symbols).

n	 Comprehension: Here, the 
student is unable to understand 
what the question is asking 
for that will make hard for the 
student to find the solution of the 
question.

n	 Transformation: It refers to the 
error where the problem or 
question has been understood 
by the student but he/she fails 
to choose the correct method of 
solving it.

n	 Process skill: It refers to the 
error where student has chosen 
the correct method to solve 
the question but not follow the 
correct steps or the process.

n	 Encoding: It refers to the error 
where the problem has been 
solved by the student but the 
interpretation of the answer went 
wrong.

Therefore, as per the above 
sequence, option (2) is the answer.

57.	 Option (4) is correct.
Explanation: Open-ended questions 
refer to the questions whose 
solutions or answers can be found in 
different ways. There is not one way 
to find their answers.
It helps in developing creative 

thinking in students.
n	 Here option (1) is close ended as 

137, 138, 139, 140, 141 are the only 
whole numbers between 136 and 
142. There is only 1 way to find 
them.

n	 Option 2 has only 1 answer that 
could be found by subtracting the 
numbers = 19.

n	 Option (3) also has 1 answer.
n	 But for option (4) many answers 

can be found.
58.	 Option (3) is correct.

n	 The term ‘Summative 
Assessment’ means the 
evaluation of the learning and 
development of a student.

n	 Option (1): Field trips refer to the 
trip outside the classroom where 
students can learn through 
observation.

n	 Option (2): Peer Assessment 
refers to the learning through 
exchange of feedback from 
classmates.

n	 Option (3): Term-end 
Examination refers to evaluation 
of knowledge through exam at 
the end of academic year.

n	 Option (4): Anecdotal Records 
refer to the records made by 
teachers providing the details of 
the learning and the development 
of student. 

Therefore as per definition, Term-
End Examination should be the 
answer.

59.	 Option (2) is correct.
Explanation:
n	 Multiplication and Addition 

are inter-related concepts in 
mathematics.

n	 Multiplication is also known as 
Repeated addition.

n	 As per the question, the student 
adds 45, five times that provides 
the result as multiplication of 45 
by 5. 

		  45 + 45 + 45 + 45 + 45	 = 225
		  45 × 5	 = 225
n	 The answer is 225 in both the 

cases.
Therefore, the strategy used by 
student reflects her creativity.

60.	 Option (1) is correct.
Explanation: As per the given 
statement, it has been believed that 
the assessment have been designed 
to test the knowledge of the 
student and to see how the student 
memorizes the formulas. Therefore, 

memorizing has replaced learning of 
concepts nowadays. 
Therefore, option (1) is correct as it 
says that the nature of assessment 
has made mathematics being 
referred as comprising of procedures 
and computational skills as students 
are just focussing on procedural 
memory.

Environmental Studies
61.	 Option (1) is correct.

Explanation:
Distance between Madgaon and 
Nagarcoil 
			   = 1134 km
Time taken		  = 21 hours

Average speed
	
=

 

Total distance
Total time taken

			 
=

 

1134
21

			   = 54 km/hr
To convert Km/hr to m/sec., we 

multiply the speed by
 

5
18

. So,

			 
� �54

5
18

			   = 15 m/sec.
62.	 Option (3) is correct.

Solution:	 OA	 = 90 m
		  OB	 = 120 m

EastWest

South
Direction Chart

North

South-East

90 m (1st)�

OB 120 m
�(2nd)

A

To find AB, we will use Pythagoras 
theorem here:
		  H2	 = P2 + B2

i.e.,		  AB2	 = (OA)2 + (OB)2

By putting values, we get
		  AB2	 = (90)2 + (120)2

		  AB2	 = 8100 + 14400
		  AB2	 = 22500
		  AB	 = 22500
So,		  AB	 = 150 m
Also, the direction of A with respect 
to B will be South-East, as first the 
person is facing, then goes towards 
and then moves point A which is in 
South-East direction with respect to 
it.

63.	 Option (1) is correct.
Explanation: The true statement 
about sloths from the options 
provided is:
(1)	� Sloths live for about 40 years 

and spend almost 17 hours a 
day sleeping while hanging 
upside down on a tree branch.
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64.	 Option (2) is correct.
Explanation:
They prevent heat from escaping: 
Woollen fabrics have properties 
that minimize heat loss. The natural 
crimp or texture of wool fibres 
creates small air pockets within 
the fabric, which trap air. Air is a 
poor conductor of heat, so these 
trapped air pockets help to reduce 
heat transfer and prevent heat from 
escaping, thus keeping us warm.
They are made from animal wool: 
Woollens are produced from the wool 
obtained from animals like sheep, 
goats, and camels. These animals 
have thick fur that serves as a natural 
insulation mechanism to protect 
them from cold temperatures. When 
this wool is transformed into fabrics, 
it retains some of these insulating 
properties, making woollens effective 
in providing warmth.
They have moisture and sound 
absorption capabilities: Wool 
fibres possess the ability to absorb 
moisture and sound. When exposed 
to moisture, wool can readily absorb 
a significant amount of water 
without feeling wet. This property 
helps regulate body temperature by 
wicking away sweat from the skin, 
keeping us dry and comfortable. 

65.	 Option (3) is correct.
Explanation: On the map of 
Golconda Fort,
		  1 cm	 = 110 m
On the map of distance between 
Fateh Darwaja and Banjara is 14.2 
cm.
By converting ‘m’ into ‘cm’, 
according to question is
		  110 m	 = 11000 cm�
� (1 m = 100 cm)
		 14.2 cm × 11,000
			   = 15620 cm
		  1 km	 = 1000 m × 100 cm
			   = 1,00,000 cm. 
So, on ground the minimum 
distance between the two would be	

			 
=

156200
100000

			   = 1.562 km
66.	 Option (1) is correct.

Explanation: The group of three 
states having the Arabian Sea on 
one side is:
(1)	 Kerala, Karnataka, Mahara-
shtra: These three states have 
coastlines along the Arabian Sea. 
Kerala is located on the southwestern 
coast of India and has a long stretch 
of coastline along the Arabian Sea. 
Karnataka, situated to the north 
of Kerala, also has a coastal region 
along the Arabian Sea. Maharashtra, 
located further north, has a coastline 
that extends along the Arabian 
Sea, including popular cities like 
Mumbai.
It's important to note that while 
there are other states and union 

territories in India with coastlines 
along the Arabian Sea, such as 
Gujarat and Goa, the given options 
specify a group of three states, and 
option (1) is the correct one that 
includes Kerala, Karnataka, and 
Maharashtra.

67.	 Option (3) is correct.
Explanation: Cheraw is a traditional 
dance form performed in the state of 
Mizoram, India. It involves a group 
of six to eight people, each holding a 
pair of bamboo sticks. The bamboos 
are placed on the ground, and as the 
drum beats, the dancers step in and 
out of the bamboo sticks, creating 
rhythmic patterns and movements.
Cheraw is an integral part of Mizo 
culture and is often performed 
during festivals, weddings, and 
other special occasions.

68.	 Option (1) is correct.
Explanation: Bachhendri Pal is 
indeed the fifth woman in the world 
and the first Indian woman to reach 
the peak of Mount Everest. She 
is an accomplished mountaineer 
and was born on May 24, 1954, in 
Uttarakhand, India. Bachhendri Pal's 
successful ascent of Mount Everest 
took place on May 23, 1984, as 
part of an Indo-Nepalese women's 
expedition.
In recognition of her outstanding 
achievements, Bachhendri Pal was 
honored with the prestigious Padma 
Bhushan award in 2019 by the 
Government of India.

69.	 Option (4) is correct.
Explanation: In India, many festivals 
depends on appearance of moon 
like Holi, Diwali, Id etc.
Holi, also known as the Festival of 
Colors, is typically celebrated in the 
month of March. It falls on the full 
moon day, or Purnima, of the Hindu 
calendar month of Phalguna. 
Diwali, also known as the Festival of 
Lights, is one of the most significant 
festivals in India and is usually 
celebrated in October or November. 
Diwali marks the victory of light 
over darkness and good over evil. 
It is celebrated on the no moon day, 
or Amavasya, of the Hindu calendar 
month of Kartik.

70.	 Option (1) is correct.
Explanation: Among the options 
provided, Option (1) is the correct 
statement. The correct statements 
about the Desert Oak tree are A, C, 
and D.

71.	 Option (1) is correct.
Explanation: In Assam, there are 
villages where houses are built 
approximately 10 to 12 feet (3 to 
3.5 meters) above the ground using 
bamboo pillars. This architectural 
practice is a response to the region's 
heavy rainfall and the need to 

protect the houses from flooding 
during the rainy season.
The houses are constructed on 
elevated platforms to ensure that 
they remain above the water level 
when rivers and streams swell due 
to heavy rains. The bamboo pillars 
provide stability and support to 
the raised structures. Additionally, 
the inner sides of these houses are 
typically made of wood.

72.	 Option (4) is correct.
Explanation: In Kerala, people prefer 
to eat boiled tapoica with any curry 
made using coconut, which which 
is grown in their own Tapioca, also 
known as cassava, is a popular and 
widely consumed staple food in 
Kerala, and it is often served with 
various coconut-based curries.

73.	 Option (1) is correct.
Explanation: The best period for 
the people of Bihar state to engage 
in the process of beekeeping is 
from October to December. During 
these months, honeybees lay their 
eggs, making it an ideal time for 
beekeeping During this period, the 
weather is favorable for bee-keeping 
as it provides adequate floral 
resources for bees to forage and 
produce honey. Additionally, the 
warmer temperatures and longer 
daylight hours in these months 
support the activity and growth of 
bee colonies.

74.	 Option (3) is correct.
Explanation: Assimilation in 
human nutrition involves utilizing 
absorbed nutrients from digested 
food. Nutrients like glucose, amino 
acids, fatty acids, vitamins, and 
minerals are transported through 
the bloodstream to cells and tissues 
where they synthesize complex 
substances. Glucose provides energy 
or converts to glycogen for storage, 
amino acids build proteins for growth 
and repair, and fatty acids contribute 
to lipid synthesis. Assimilation also 
involves breaking down excess 
nutrients, such as converting glucose 
to fat. It occurs throughout the body, 
aided by villi in the small intestine, 
supporting overall health and 
meeting nutritional needs.

75.	 Option (4) is correct.
Explanation: Overusing soil by 
repeatedly growing the same crop 
and applying excessive chemical 
fertilizers and pesticides can harm 
the soil, leading to several negative 
effects:
(i)	 Depletion of nutrients: 

Growing the same crop 
repeatedly can deplete specific 
nutrients from the soil, as 
the crop takes up those 
nutrients for its growth. This 
imbalance can result in nutrient 
deficiencies in the soil.
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(ii)	 Soil degradation: Continuous 
cultivation of the same crop 
without proper crop rotation or 
soil management practices can 
lead to soil degradation. The soil 
loses its fertility and structure, 
becoming less productive and 
prone to erosion.

(iii)	 Decreased productivity: 
Excessive use of fertilizers may 
initially boost productivity, but 
over time, it can lead to nutrient 
imbalances and nutrient 
toxicity, resulting in decreased 
overall productivity of the soil.

(iv)	 Soil pollution: Excessive use 
of pesticides can negatively 
impact soil health. Pesticides 
may accumulate in the 
soil, contaminating it and 
potentially harming beneficial 
soil organisms. This can disrupt 
the soil ecosystem and its 
natural processes.

To maintain soil health and 
productivity, it is essential to practice 
sustainable agricultural methods 
such as crop rotation, proper nutrient 
management, organic fertilizers, 
and integrated pest management 
techniques. These approaches help 
preserve soil fertility, prevent soil 
degradation, and promote long-term 
sustainability in agriculture.

76.	 Option (4) is correct.
Explanation: The purpose of 
home assignments in EVS can be 
summarized as follows:
(i)	 Extension of learning: Home 

assignments aim to extend 
students' learning by allowing 
them to apply the methods and 
techniques taught in school to 
solve questions or problems. 
This helps them develop their 
problem-solving skills and 
deepen their understanding of 
the subject.

(ii)	 Recap of learning: Home 
assignments serve as a recap 
of what students have learned 
during the day. By revisiting the 
topics covered in class, students 
reinforce their knowledge and 
ensure they have a solid grasp 
of the material.

(iii)	 Assessment of knowledge: 
Home assignments also serve 
as a way to assess students' 
understanding and knowledge 
on a particular topic. By 
completing assignments 
independently, students 
demonstrate their ability 
to apply what they have 
learned and showcase their 
comprehension of the subject 
matter.

Overall, home assignments in EVS 
play a vital role in providing an 
extension of learning, reviewing 

previously covered material, and 
assessing students' knowledge and 
skills in an independent context.

77.	 Option (3) is correct.
Explanation: For the extension of 
learning, visiting a zoo is appropriate 
as students can relate the animals 
to what they have learned in 
school. Additionally, students can 
connect virtual concepts to the 
real world, which helps create 
lasting images in their minds. This 
experience also strengthens their 
imagination, perception skills, and 
cognitive teachers can use these 
pictures as a starting point for 
discussions, engaging students in 
various learning activities, such as 
identifying animals, understanding 
their behavior, and even creating 
stories or descriptions based on the 
visuals.

78.	 Option (3) is correct.
Explanation: The best way to learn 
about festivals in the community 
that are related to water is by talking 
to the older people in your family 
and community. They can share their 
knowledge and experiences about 
the cultural significance, traditions, 
and history of these festivals. By 
listening to their stories, you can 
better understand and appreciate 
these water-related festivals. This 
approach also helps you connect 
with the real world, socialize, and 
show respect to your They can 
share personal experiences, stories, 
and insights into the significance of 
water-related festivals.

79.	 Option (3) is correct.
Explanation: Textbooks of EVS are 
not provided for students in classes 
I and II because the concepts and 
skills of EVS are taught through 
integrated learning approaches. The 
focus is on teaching these concepts 
through language and mathematics, 
as well as interactive activities and 
games suggested in the teacher's 
handbook. This approach helps 
lighten the curriculum load and 
allows students to see the world 
holistically by integrating knowledge 
from different This approach is more 
child-centered and experiential, 
allowing young learners to explore 
and understand the world around 
them through practical and 
interactive activities, rather than 
using traditional textbooks. It also 
encourages teachers to use a variety 
of teaching methods, including 
storytelling, group discussions, 
hands-on activities, and projects to 
make the learning process engaging 
and enjoyable for young children.

80.	 Option (4) is correct.
Explanation: Sociocultural 
environment refers to the society 

in which we live. It includes our 
neighbourhood, family, school, 
peers etc. Any individual grabs 
their attitudes, behaviour, way of 
living from these communities, and 
these cultural aspects are passed 
down from one generation to The 
term "community" directly relates 
to the socio-cultural environment 
as it represents a group of people 
living together in a particular area, 
sharing common interests, values, 
and social norms. The community's 
culture, customs, and social practices 
significantly impact the lives 
of its members and shape their 
perspectives and behaviors.

81.	 Option (3) is correct.
Explanation: Students' socio-
cultural background is a primary 
source of learning. The socio-
cultural environment refers to 
the community that surrounds 
individuals, including beliefs, 
values, and traditions passed down 
from previous generations. Students' 
learning is greatly influenced by 
their socio-cultural background as 
they gain different perspectives 
and knowledge from their elders, 
which they apply in their daily lives. 
By engaging with their family and 
community, students can deepen 
their understanding of the world 
around them and develop a sense 
of cultural The primary level of 
education, especially in the early 
years, emphasizes experiential 
and child-centered learning. 
Children's immediate environment, 
which includes their family and 
community, plays a crucial role in 
their development and learning 
process.

82.	 Option (3) is correct.
Explanation: The most appropriate 
strategy for teaching EVS to 
cognitively impaired students is to 
break tasks into parts and complete 
them separately. This approach helps 
reduce pressure and allows students 
to better comprehend the questions. 
By breaking tasks into manageable 
segments, students can experience 
success and build enthusiasm as 
they achieve progress step by step. 
This strategy promotes a positive 
learning environment and supports 
the cognitive abilities of impaired 
students. For students with cognitive 
impairments, hands-on experiences 
can significantly enhance memory 
and learning outcomes. They can 
associate the tactile experience 
with the information being taught, 
making it more memorable.

83.	 Option (4) is correct.
Explanation: An important step 
in analyzing the content of EVS 
in lesson planning is to draw 
concept maps. Concept maps 
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assist teachers in assessing the 
views and knowledge of learners, 
providing a clear picture of students' 
thought processes. They also aid 
in planning the session according 
to the children's needs and Once 
the objectives are established, the 
teacher can then plan the content, 
activities, resources, and assessments 
that will be used to achieve those 
objectives. This ensures that the 
lesson is purposeful, focused, and 
targeted towards meeting the 
intended learning goals.

84.	 Option (4) is correct.
Explanation: Continuous and 
comprehensive evaluation is 
assessing the students throughout 
the session in both scholastic 
and non-scholastic area. It is not 
about providing marks to the 
students at the end of a term but 
involves a continuous evaluation of 
students about their learning and 
knowledge. Comprehensiveness is 
holistic development as it happens 
informally even when there are 
no scores related to it in the last. 
Therefore, CCE aims to assess 
students in a more comprehensive 
and well-rounded manner, taking 
into consideration all aspects of 
their development, rather than just 
focusing on academic achievements

85.	 Option (1) is correct.
Explanation: Assessment for 
learning in EVS should be based on:
1.	 real-life facts and related to the 

environment.
2.	 should assess the student 

formally and informally both.
So, here providing student to 
find out coastal states of India on 
worksheets will be the appropriate 
way to examine EVS learning.

86.	 Option (3) is correct.
Explanation: According to the NEP 
2020, classrooms should be active 
and engaging, integrating arts and 
storytelling to enhance learning. 
Arts like visual arts, music, dance, 
and drama allow students to explore 
concepts and express understanding. 
Instructional practices must adapt 
to individual learners' needs, 
recognizing diverse learning 
styles, abilities, and interests. A 
student-centered approach fosters 
inclusivity and personalization. 
While focusing on key concepts, 
the NEP highlights considering 
students' interests, increasing 
engagement and motivation. By 
aligning topics and activities with 
their interests, educators create a 
meaningful and enjoyable learning 
experience. Experiential learning in 
EVS should revolve around the key 
concepts of the subject. Students 
should be encouraged to explore 
and experience these concepts in 

real-life contexts, connecting theory 
with practice.

87.	 Option (3) is correct.
Explanation: By asking students 
about the eating habits, country 
of origin, and external features 
such as size, color, and hair of zoo 
animals, the teacher is trying to 
analyze the observation skills of the 
learners. Additionally, the teacher 
is assessing the communication 
skills of the students, as they will 
need to provide suitable answers 
to the question. The teacher is also 
checking the level of sensitivity in 
students, measuring how much 
they care about the eating habits of 
animals in the zoo.

88.	 Option (1) is correct.
Explanation: The themes in EVS 
at primary level are: Food, shelter, 
water, family, friends, travels and 
things we make and This theme 
focuses on the importance of water, 
its sources, uses, conservation, and 
the water cycle.

89.	 Option (2) is correct.
Explanation: High-order questions 
are that go beyond the taught 
curriculum and imagination, 
creativity, and understanding of 
concepts. Here, the student is 
allowed to explore their thoughts 
process via divergent thinking.
Here, this question will took them 
beyond the bookish knowledge 
and would make them explore EVS 
concepts in their own. Students are 
expected to use their understanding 
of the topic, consider various factors, 
and draw logical conclusions to 
answer this question..

90.	 Option (2) is correct.
Explanation: Rubrics can be used 
to assess the performance and 
understanding of EVS concepts, 
providing a clear picture of students' 
understanding. They serve as a 
guide for self-assessment based on 
the assignments given by the teacher. 
Rubrics work as assessment tools 
that indicate students' performance 
on various components, such as oral 
and written expression. Additionally, 
they enhance the socializing process 
of the learners. In the context of the 
skits depicting ways of preserving 
wildlife, rubrics can be designed to 
assess both the creative expression 
(e.g., acting, storytelling, use of 
props) and the understanding of 
EVS concepts related to wildlife 
conservation.

Language: English

91.	 Option (3) is correct.
Explanation: ‘Development’ as 
the cause of environmental degra-
dation means that whenever 
there is any development in any 

particular area, it results in a 
lot of deforestation, emission of 
greenhouse gases, construction of 
dams and skyscrapers. As it is clearly 
mentioned in the first paragraph 
about the destruction of mangroves 
and building commercials was the 
reason for the damage caused.

92.	 Option (1) is correct.
Explanation: ‘Tsunami’ is a Japanese 
word which means high sea waves 
are causing destruction and are 
caused by earthquakes.

93.	 Option (3) is correct.
Explanation: From the first three 
lines of passage which tells us 
about the importance of mangroves 
supports this statement in option 
(3). It states that “it was observed 
that the destruction of mangroves 
and the building of commercial 
enterprise along the shore line was 
the reason for the greater extent of 
the damage caused.

94.	 Option (4) is correct.
Explanation: There is no mention 
of greenhouse gas in the passage 
but we know that carbon dioxide, 
methane and chloroflurocarbon 
are causing global warming. Here, 
hydrogen doesn’t cause greenhouse 
gas.

95.	 Option (3) is correct.
Explanation: The most ferocious 
effect of global warming will be 
increase in sea level and flooding 
of coastal areas. The lines from the 
paragraph 1 of the passage clearly 
state that “The ice in the Arctic 
and Antarctic is melting because of 
increased emission of greenhouse 
gases into the atmosphere and this 
has potential to cause floods and 
actual submerged low lying areas 
like Bangladesh and the Maldives”.

96.	 Option (3) is correct.
Explanation: ‘Degradation’ also 
means ‘debasement’ referring to the 
paragraph 1 of the passage.
(i)	 disruption
	 – �interruption caused in an 

event or processing.
(ii)	 destruction
	 – ��damage caused to something 

that ruined it fully.
(iii)	 degradation
	 – �debasement or reducing the 

quality.
(iv)	 discrimination
	 – �unjust treatment done for 

being from different or lower 
category.

97.	 Option (2) is correct.
Explanation: ‘Backward is the word 
which is opposite to the word 
‘advanced’ as used in paragraph 2 of 
the passage:
(i)	 poor
	 – not having enough money.
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(ii)	 backward
	 – less progress than expected.
(iii)	 unskilled
	 – �not having training in 

particular task.
(iv)	 traditional
	 – �to be followed from past till 

now.
98.	 Option (2) is correct.

Explanation: The underlined word 
‘concern’ is a noun which means a 
matter of high importance.

99.	 Option (1) is correct.
Explanation: This is a conditional 
sentence, the formula for it is: If 
clause + past perfect tense, subject 
or if clause + would + have + V3 
+ object. 
Here, the sentence should be “If he 
had followed his father’s advice, he 
would not have faced this worrying 
situation.

100.	 Option (1) is correct.
Explanation: Inevitable means 
something that cannot be avoided. 
Here, according to the poem, it 
suggests the moment of death or the 
time of death.

101.	 Option (4) is correct.
Explanation: The words from the 
poem like: homely joys, destiny 
obscure, sober, and wishes suggests 
that poet is feeling sympathy 
towards simple, poor villagers 
buried in graveyard.

102.	 Option (4) is correct.
Explanation: In the poem, it clearly 
suggested that the poet admonishes 
the high and mighty for mocking the 
poor and also advises the peasants 
not to complain about their lot.

103.	 Option (3) is correct.
Explanation: Metaphor is a figure 
of speech that brings out the 
comparison of two different things. 
Example: "Love is a battlefield."
Simile: A simile is a figure of speech 
in which two essentially dissimilar 
objects or concepts are expressly 
compared with one another through 
the use of “like” or “as.”
Metonymy: Metonymy is a figure 
of speech in which one object idea 
takes the place of another with 
which it has a close association. 
Example: “I’m a Silicon Valley guy. I 
just think people from Silicon Valley 
can do anything.”
Personification: Personification is 
a literary device that gives human 
qualities to non-human things, 
such as animals, objects, or natural 
phenomena. Example: My heart 
danced when he walked in the room.

104.	 Option (1) is correct.
Explanation: According to the poem, 
the villagers can be seen as destiny 
obscure, simple annals and, useful 
toils but not the boast of heraldry. 

Thus, we can say "boast of heraldry' 
can't be associated with simple 
humble peasants.

105.	 Option (1) is correct.
Explanation: ‘Personification’ is a 
figure of speech in which sentences 
attributes human attributes to non-
living things. Example:  My alarm 
yelled at me this morning.

106.	 Option (2) is correct.
Explanation: Learning style is 
different for every individual. It 
varies from learners to learners. 
It can be many types like visual, 
auditory, kinaesthetic and aesthetic.
Here, visual learning style is about 
the child as she prefers written 
information over verbal as it may 
give more clarity to her thoughts 
while percepting information.

107.	 Option (3) is correct.
Explanation: Here, the teacher is 
trying to enhance speaking skills 
among students as she picked up 
the activity of “Role-play” to them as 
it requires more conversation among 
each other and also involves correct 
expression and content knowledge 
with correct pronunciation too.

108.	 Option (3) is correct.
Explanation: Mother tongue is a 
language that a child learns initially 
in his life from his society next to him 
only i.e. family, neighbourhood etc. 
A teacher should use it in the class 
to make students understand better 
about new concepts where they 
can easily grasp all the information. 
In this way, learners will be more 
confident and enthusiastic to accept 
all the knowledge provided in the 
class.

109.	 Option (2) is correct.
Explanation: A teacher can develop 
good writing skills in budding 
writers by:
(i)	 praising them for what they 

have done.
(ii)	 providing specific comments to 

improve further.
(iii)	 providing some hints for the 

help of writers.
110.	 Option (3) is correct.

Explanation: Formative assessment 
is the assessment that takes place 
throughout the session and tells 
about the problem-facing areas to 
enhance academic growth. It uses a 
lot of tools to collect information like 
oral testing, assignments, projects, 
portfolios, etc.

111.	 Option (1) is correct.
Explanation: Role play will be 
the best activity to do for the 
children of class-I for oral language 
development as it requires more 
speaking skills. Pronunciation will 
also be checked while having a 
conversation. It will also generate 

interest of the learners and ensure 
better display of expressions by 
children.

112.	 Option (1) is correct.
Explanation: Ali’s reaction to the 
story from a textbook is described 
as connecting the text with his 
personal experience. He relates 
information with the animals at 
his place, and with the enthusiasm 
he tells everyone about it in the 
class, shows that he is interested in 
learning process and retaining his 
thought to connect it in real life.

113.	 Option (2) is correct.
Explanation: During the group 
work, a teacher should:
(i)	 engage everyone in the task.
(ii)	 help whenever it is required.
(iii)	 correct the mistakes done by 

students.
(iv)	 put questions in between to get 

the follow up.
(v)	 make the task designed accord-

ing to the levels of individuals.
114.	 Option (3) is correct.

Explanation: Reading comprehen-
sion is ability to construct meaning 
by interacting with text. It suggests 
that the readers should infer the 
meaning from the text appropriately. 
It involves the accurate connectivity 
with text that shows the ideas, 
thoughts and logical reasoning 
of the child. It develops cognitive 
abilities of the learners as well.

115.	 Option (2) is correct.
Explanation: Open-ended questions 
are those in which question is given 
to the students in which they can 
think of multiple solutions for it. It 
has various benefits such as:
(i)	 enhances creativity among 

learners.
(ii)	 gives an idea about the thought 

process of the students.
(iii)	 divergent thinking is given 

importance here.
(iv)	 students can provide solutions 

according to their perspective.
116.	 Option (1) is correct.

Explanation: Language is a 
system of systems i.e. it is a 
connection of sounds, words, and 
sentences according to the rules 
of the language. It is a pattern 
of ideas, emotions and desires 
communicating through a language.

117.	 Option (1) is correct.
Explanation: Language is learnt best 
in contexts means that it is best learnt 
by providing real life experience and 
actual usage of it. It requires a lot of 
practice using different situations. 
It should include role-plays, theme 
act. Situations should be created to 
make the use of language more with 
different words and sentences.
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118.	 Option (4) is correct.
Explanation: Diagnostic test in 
language learning is performed 
at the end of course to find out 
the mistakes done by students 
and to plan remedies for it. 
It is done to know the gap in 
learners understanding. It helps 
in determining the weakness and 
strengths of the learners.

119.	 Option (3) is correct.
Explanation: In child-centered 
classroom, the teacher should 
use following methods to engage 
learners:
(i)	 encourage them to initiate on 

their own.
(ii)	 encourage divergent thinking.
(iii)	 provide open-ended questions 

for generating creativity among 
them.

(iv)	 interact in between the context 
teaching for better grasp of 
knowledge.

120.	 Option (3) is correct.
Explanation: In a constructivist 
classroom, learning should be based 
on previous knowledge that will be 
carry forwarded to new knowledge 
using authentic tools. It stimulates 
cognitive abilities, ensures better 
understanding, provides a link to 
previous thoughts, and encourages 
them to construct a thought process.

Language: Hindi

121.	 fodYi (3) mfpr gSA
O;k[;kµ'kgjh oxZ ds cPps eksVkis dh 
leL;k ls xqtj jgs gSa D;ksafd mudk ckgjh 
[ksyksa esa fgLlk ysuk de gks x;k gSA fnuHkj 
esa Hkkx&nkSM+ u ds cjkcj gksrh gSA dksjksuk 
dky esa rks ;g ,dne cUn gks x;k gSA
'kgjh lEiUu oxZ osG cPpksa esa pqukSrh nwljh 
gS] ;gk¡ eksVkik c<+rk tk jgk gSA bldh ,d 
cM+h otg nkSM+&Hkkx osG [ksyksa esa de fgLlk 
ysuk gSA
ckgjh [ksyksa esa fgLlk ysuk 'kgjh cPpksa us 
igys gh de dj fn;k FkkA 
dksjksuk dky esa rks ;g ,dne cUn gks x;kA

122.	 fodYi (2) mfpr gSA
O;k[;kµcPpksa dk iks"k.k muds ot+u] 
yEckbZ] iks"kd rRo ls tk¡pk tk ldrk gS 
ijUrq lkekftd Js.kh ls iks"k.k dk fglkc 
ugha yxk;k tk ldrk gSA vxj cPpk lgh 
rjhds ls [kkrk gS rFkk lHkh izdkj ds O;atuksa 
dk lsou lgh ek=k esa djrk gS rks mldk 
'kjhj lgh <ax ls c<+rk gSA
nqfu;kHkj esa cPpksa osG iks"k.k dks ekius osG 
pkj iSekus gksrs gSaµyEckbZ osG fglkc ls otÛu 
de gksuk] yEckbZ de gksuk] lkekU; ls de 
otÛu gksuk vkSj iks"kd rRoksa dh deh gksukA
oqGiks"k.k dks mez osG fglkc ls yEckbZ de 
gksus dk vge dkj.k ekuk tkrk gSA
vr% Li"V gS fd lkekftd Js.kh lgh mÙkj gSA

123.	 fodYi (1) mfpr gSA
O;k[;kµfn, x, vuqPNsn ds nkSjku] foxr 
o"kks± esa xzkeh.k {ks= esa dqiksf"kr cPpksa dh 
la[;k esa deh vkbZ FkhA ,d vkadyu ;g Hkh 
gS fd ns'k esa gj lky vdsys dqiks"k.k ls 10 
yk[k ls T;knk cPpksa dh ekSr gks tkrh gSA
chrs oqGN o"kks± esa xzkeh.k {ks=ksa esa vfr oqGiksf"kr 
cPpksa dh la[;k esa deh vk;h FkhA
vr% Li"V gS fd oqGiksf"kr cPps lgh mÙkj gSA

124.	 fodYi (2) mfpr gSA
O;k[;kµvuqPNsn ds vuqlkj dqiks"k.k dks 
[kk| lqj{kk vkSj [kkus esa fofoèkrk ykdj gh 
nwj fd;k tk ldrk gSA
[kk| lqj{kk vkSj [kkus esa fofoèkrk oqGiks"k.k 
nwj djus osG fy, tÛ:jh gSA
;s nksuksa gh ckrsa lhèks vk; ls tqM+h gksrh gSaA 
leqfpr vk; ugha gksxh rks cPps vkSj ifjokj 
osG vU; lnL;ksa dks iks"k.k feyuk eqefdu 
ugha gSA ,slk vkadyu gS fd ns'k esa gj lky 
vosGys oqGiks"k.k ls 10 yk[k ls T;knk cPpksa 
dh ekSr gks tkrh gSA
vr% Li"V gS fd osGoy i vkSj ii mÙkj lgh gSA

125.	 fodYi (2) mfpr gSA
O;k[;kµ'kgjh cPpksa esa eksVkis dh leL;k 
dks nwj djus dk dkjxj mik; ;g gksxk fd 
cPpksa dks Hkkx&nkSM+ ckys [ksyksa esa 'kkfey 
fd;k tk, rkfd mudk 'kkjhfjd O;k;ke gks 
tk, ftlls eksVkik u c<+sA

	 'kgjh laiUu oxZ ds cPpksa esa pqukSrh nwljh gSA 
;gka¡ eksVkik c<+rk tk jgk gSA

	 bldh ,d cM+h otg nkSM+&Hkkx ds [ksyksa esa 
de fgLlk ysuk gSA ckgjh [ksyksa esa fgLlk ysuk 
'kgjh cPpksa us igys gh de dj fn;k FkkA

	 vr% Li"V gS fd nkSM+&Hkkx okys [ksyksa esa 
'kkfey fd;k tk, lgh mÙkj gSA

	 nkSM+&Hkkx esa }a} lekl gSA
126.	 fodYi (2) mfpr gSA

O;k[;kµx|ka'k ds vuqlkj vxj vk; de 
gks rks cPpksa dks dqiks"k.k dk lkeuk djuk 
iM+ ldrk gS D;ksafd mudks vko';drk ds 
vuqlkj vkgkj ugha feyrk ftlls 'kjhj esa 
dbZ izdkj dh deh vk ldrh gSA

	 leqfpr vk; ugha gksxh rks cPps vkSj ifjokj 
ds vU; lnL;ksa dks iks"k.k feyuk eqefdu 
ugha gSA

	 MCY;w,pvks ds vuqlkj iks"k.k dk lacaèk 
'kjhj dh vko';drkuqlkj vkgkj ds lsou 
dks ekuk tkrk gSA

127.	 fodYi (4) mfpr gSA
O;k[;kµyEckbZ 'kCn Hkkookpd laKk gS 
tcfd dqiksf"kr] 'kgjh] fBxus vkfn 'kCn 
fo'ks"k.k gSaA

	 fo'ks"; 'kCn&^i`"BHkwfe*
	 vFkZ og tks fdlh vafdr n`';] ?kVuk vkfn 

dk vkJ; ;k vkèkkj gksrk gSA
	 fo'ks"k.k 'kCn&^lkekftd] vkfFkZd] 

ikfjokfjd*

128.	 fodYi (4) mfpr gSA
O;k[;kµizfo'ks"k.k 'kCn og gksrs gSa tks 
fo'ks"k.k dh fo'ks"krk crk,] mUgsa izfo'ks"k.k 
dgrs gSaA vfr dqiksf"kr dk vFkZ gS vfèkd 
dqiksf"kr gksukA blesa ^vfr* 'kCn izfo'ks"k.k gSA

	 vfr 'kCn çfo'ks"k.k dk mnkgj.k gS
	 çfo'ks"k.k&fo'ks"k.k dh fo'ks"krk crkus okys 

'kCn dks çfo'ks"k.k dgrs gSaA vr% mijksä 
okD; esa ^vfr* 'kCn çfo'ks"k.k gksxkA

129.	 fodYi (3) mfpr gSA
O;k[;kµlrgh iqLrdksa dk lkoZdkfyd 
egÙo ugha gksrkA

	 lrgh iqLrdsa dk lkoZdkfyd egÙo ugha 
gksrk gSA

	 iqLrdsa fo'odks'k] egku ,sfrgkfld xzaFk] 
lanHkZ xzaFk lkoZdkfyd egÙo gksrk gSA

	 vr% Li"V gS lrgh iqLrdsa lgh mÙkj gSA
130.	 fodYi (4) mfpr gSA

O;k[;kµiqLrdky; tulkekU; ds KkuoèkZu 
rFkk euksjatu dk lkèku gS blls Kku dk 
fodkl lgh izdkj ls gksrk gS vkSj euksjatu 
dk Hkh è;ku j[kk tkrk gSA

	 mi;qä x|ka'k ds vuqlkj tulkèkkj.k ds 
fy, iqLrdky; Kkuo¼Zu vkSj euksjatu 
dk vuqie lkèku gSaA iqLrdky;ksa dk ftruk 
mi;ksx Kkuo`f¼ ds fy, fd;k tkrk gS 
mlls dgha vfèkd euksjatu ds fy, fd;k 
tkrk gSA

	 vr% Li"V gS dh iqLrdky; tulkekU; ds 
fy, KkuoèkZu rFkk euksjatu dk lkèku gSA

131.	 fodYi (2) mfpr gSA
O;k[;kµnks o.kks± ds esy dks lfUèk dgrs gSa 
rFkk budks vyx djus dks lfUèk foPNsn 
dgrs gSaA
		 iqLrd $ vky;	= iqLrdky;
;g nh?kZ Loj lfUèk gS blesa nh?kZ Loj 
(tSlsµv] b] m) ds vkxs nh?kZ Loj tk, rc 
mls feykdj vk] bZ] Å cukrs gSaA

	 ^iqLrdky;* dk lafèk foPNsnµ�
� iqLrd + vky;

	 iqLrdky; esa ^nh?kZ Loj lafèk* gSA
	 ^iqLrdky;* 'kCn esa ^v + vk ¾ vk* dk 

esy gks jgk gS blfy, ;gka nh?kZ Loj lafèk gSA
	 tc lafèk djrs le; v] vk] b] bZ] m] Å 

vkSj ½ ds lkFk v] vk] b] bZ] m] Å vkSj 
½ Loj vk tk,¡ rks nksuksa feydj vk] bZ] Å 
vkSj ½ gks tkrs gSaA bl esy ls cuus okyh 
lafèk dks nh?kZ Loj lafèk dgrs gSaA

132.	 fodYi (4) mfpr gSA
O;k[;kµiqLrdksa dk thou esa fo'ks"k egÙo 
gS ;g Kku vkSj euksjatu esa djedkjh gSA 
;g cgqewY; gSA
veaxydkjh dk vFkZ v'kqHk gksrk gS tks fd 
iqLrdsa ugha gksrhA

	 mi;qä x|ka'k ds vuqlkj ys[kdksa vkSj 
vuqlaèkkudrkZvksa ds fy, rks iqLrdky; 
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Kku&HkaMkj ls de ugha gksrs] ,d çdkj 
ds ojnku gh gksrs gSaA mUgsa vius fo"k; ls 
lacafèkr rF; çkIr djus ds fy, mi;qä 
iqLrdsa iqLrdky; esa gh fey ldrh gSaA

	 vr% Li"V gS veaxydkjh lgh mÙkj gSA
133.	 fodYi (1) mfpr gSA

O;k[;kµiqLrdky; esa ;g fo'ks"krk gS tks 
O;fDr fdrkcsa [kjhnus ;ksX; ugha gS og Hkh 
mudk mi;ksx vklkuh ls dj ldrk gSA dqN 
iqLrdsa cktkj esa vklkuh ls ugha izkIr gksrh 
ijUrq og iqLrdky; esa fey tkrh gSaA

	 mi;qä x|ka'k ds vuqlkj çR;sd O;fä dh 
bruh lkeFkZ~; ugha gksrh fd iqLrdksa ij 
lSdM+ksa gtkjksa #i;s O;; dj ldsA bl deh 
dks iqLrdky; nwj djrs gSaA ys[kdksa vkSj 
vuqlaèkkudrkZvksa ds fy, rks iqLrdky; 
Kku&HkaMkj ls de ugha gksrs] ,d çdkj ds 
ojnku gh gksrs gSaA

	 çR;sd 'kCn esa vO;;hHkko lekl gSA ftl 
lekl dk igyk in çèkku gks vkSj og 
vO;; gks mls vO;;hHkko lekl dgrs gSaA

134.	 fodYi (3) mfpr gSA

O;k[;kµlfUèk nks o.kks± ds esy dks dgk 
tkrk gS rFkk mudks vyx djus dks lfUèk 
foPNsnA
	 izR;sd	= izfr $ ,d (;.k lfUèk)
;.k lfUèk esa vxj b] bZ ds ckn dksbZ vU; 
Loj u gks] rks og ^;* cu tkrk gSA

	 b] bZ ds vkxs dksbZ fotkrh; (vleku) Loj 
gksus ij b bZ dks ^;* gks tkrk gSA

	 vFkkZr fotkrh; eryc ,],s]vks]vkS gks rks---
	 çR;sd 'kCn esa ^;.k lafèk* gSA
135.	 fodYi (1) mfpr gSA

O;k[;kµys[kdksa rFkk vuqlaèkku drkZvksa 
ds fy, iqLrdky; ojnku gS] D;ksafd ogk¡ 
vius fo"k; ls lEcfUèkr dbZ iqLrdsa fey 
tkrh gSa ftudk og mi;ksx fcuk [kjhns rFkk 
'kkfUriwoZd dj ldsaA

	 mi;qä x|ka'k ds vuqlkj ys[kdksa vkSj 
vuqlaèkkudrkZvksa ds fy, rks iqLrdky; 
Kku&HkaMkj ls de ugha gksrs] ,d çdkj 
ds ojnku gh gksrs gSaA mUgsa vius fo"k; ls 
lacafèkr rF; çkIr djus ds fy, mi;qä 
iqLrdsa iqLrdky; esa gh fey ldrh gSaA

	 vr% Li"V gS fd ogka¡ mUgsa vius fo"k; ls 
lacafèkr tkudkjh çkIr djus ds fy, mi;qä 
iqLrdsa çkIr gks tkrh gSa mÙkj lgh gSA

136.	 fodYi (3) mfpr gSA

O;k[;kµjpukRed ys[ku og ys[ku gksrk gS 
tgk¡ ij ubZ lksp vkSj 'kCnksa dk mi;ksx 
djuk rFkk iBu dks ubZ fn'kk esa ys tkus dks 
izksrlkfgr fd;k tkrk gSA jpukRed ys[ku 
esa dgkuh fy[kuk] mÙkj dk lq>ko nsuk] 
eqgkojksa dk iz;ksx djuk] ?kVukvksa dks vius 
'kCnksa esa crkuk vkfn vkrs gSaA

	 jpukRed ys[ku&og ys[ku ftlesa uohu 
jpukvksa fopkjksa vkSj 'kCnksa dk ç;ksx gksrk 
gSA blesa 'kCnksa dk fuf'pr vFkZ u gksdj gj 
'kCn ,d u;k ç;ksx gksrk gS tks ys[ku dks 
uohu vFkZ çnku djrk gS jpukRed ys[ku 
esa Hkk"kk dh vfHkO;atuk egÙoiw.kZ gksrh gSA

	 jpukRedrk ls ekSfyd]u;k]fof'k"V vkSj 
vFkZoku gksus dk cksèk gksrk gSA

	 jpukRedrk dk fodkl djus gsrq f'k{kd ds 
dk;Z&
n	 fo|kfFkZ;ksa dks laokn ds volj miyCèk 

djk, tk,¡A
n	 fo|kfFkZ;ksa esa i;kZoj.k rFkk çÏfr ds çfr 

tkx:drk fodflr dh tk,A O;fäxr] 
LFkkuh; o oSf'od ?kVukvksa rFkk fLFkfr;ksa 
dks le>us ds fy, çsfjr fd;k tk,A

n	 l`tu ds fy, vko';d 'kCn Hk.Mkj] 
yksdHkk"kk] lwfä] eqgkojksa vkfn ls ifjfpr 
djkdj l`tukRedrk dks fodflr fd;k 
tk,A

	 fo|kfFkZ;ksa esa l`tukRedrk fodflr gks] 
blds fy, dqN fØ;k,¡ djkbZ tk ldrh 
gSaA tSls&vuqPNsn jpuk] okD; iwfrZ fn, x, 
'kCnksa ls jpuk] rqdkRed jpuk] vkfnA

	 Hkk"kk] 'kSyh] fopkj] fo"k;oLrq] 'kCn foU;kl 
vkfn dk fofHkUu lkfgR;&jpukvksa ds lanHkZ 
esa cksèk djk;k tk,A

	 'kCn] eqgkojs yksdksfä;k¡ ,df=r dj muds 
vFkks± ds vkèkkj ij u, 'kCn cukus rFkk 
mudk jpuk esa mi;ksx djus ds fy, 
fo|kfFkZ;ksa dks çsfjr fd;k tk,A

137.	 fodYi (3) mfpr gSA
O;k[;kµHkk"kk vfèkxe ds fy, 'kCndks'k 
,d egÙoiw.kZ vkStkj gS 'kCndks'k fd iz;ksx 
ds fo"k; esa egÙoiw.kZ gS fdµ
(i)	 fdlh 'kCn dk vFkZ <w<¡uk
(ii)	 fdlh 'kCn dh orZuh dk irk yxkuk
(iii)	 fdlh 'kCn ds ^Hkk"kk Hksn* dh tk¡p 

djuk
(iv)	 'kCnksa dks le>dj i<+uk ftlls 

laKkukRed fodkl Hkh gksA

	 'kCndks'k 'kCnksa] 'kCnksa ds lekukFkhZ 'kCn 
vkSj muds vFkks± dh lwph dks lanfHkZr djrk 
gSA

	 ;g fdlh 'kCn dh orZuh dk irk yxkus esa 
egÙoiw.kZ gSA

	 ;g fdlh 'kCn dk vFkZ <wa¡<us esa enn djrk 
gSA

	 ;g fdlh 'kCn ds 'Hkk"kk Hksn' dh tka¡p djus 
esa enn djrk gSA

	 laçs"k.k dks çHkkoh cukus esa 'kCndks'k dk 
cgqr egÙo gSA

	 'kCndks'k ys[ku dkS'ky dks fu[kkjrk gSA
	 'kCndks'k fopkjksa dks O;ofLFkr djus esa 

lgk;d gksrk gSA
	 mez ds lkFk ckyd dk laKkukRed fodkl 

gksrk gSA

138.	 fodYi (3) mfpr gSA
O;k[;kµlaKkukRed vfèkxe fl¼kUr ds 
vuqlkj Hkk"kk dk Kku mls tkudj rFkk 
ladsrksa dks igpku dj fd;k tkrk gSA 
blds vuqlkj euq"; ds tUe ls Hkk"kk dk 
Kku gksrk gS tks fd le; ds lkFk iz;ksx esa 
vk tkrk gSA blesa =qfV;ksa gksuk xyr ugha 
gS D;ksafd og lh[kus dk ,d vax gSA Hkk"kk 
rkfdZdrk rFkk ekufld izfØ;kvksa ds }kjk 
lh[kh tkrh gSA leL;k ds ckjs esa lkspdj gh 
mldk vfèkxe gks ldrk gSA

	 VkWyeSu }kjk laKkukRed fl¼kar fn;k x;k 
FkkA ;g bl rF; ij è;ku dsafær djrk gS fd 
leL;k ds ckjs esa lkspdj] O;fä dh varn`Zf"V 
ls] vkSj fofHkUu ladsrksa ;k tkudkjh ds [kaMksa 
dks ,dhÏr djds vfèkxe gksrk gSA

	 =qfV;ka lh[kus dh çfØ;k esa ,d egÙoiw.kZ 
dne gS tks cPpksa dh lksp dks varn`Zf"V nsrh 
gSA

	 tkudkjh dk vtZu vfèkxe dh çfØ;k esa 
egÙoiw.kZ Hkwfedk fuHkkrk gSA laKkukRed 
fl¼kar bl ckr dk leFkZu djrk gS fd 
laKkukRed i;kZoj.kh; ladsrksa vkSj vis{kkvksa 
ds chp lacaèk vfèkxe dh vksj ys tkrk gSA

	 pkWELdh ds vuqlkj ckyd varfuZfgr Hkk"kk 
;a= ds lkFk tUe ysrs gSaA

	 Hkk"kk rkfdZdrk rFkk ekufld çfØ;kvksa ds  
}kjk lh[kh tkrh gSA

	 laKkukRed fl¼kar ds vuqlkj] vfèkxe 
míhiu&míhiu la?k ds ifj.kkeLo:i gksrk 
gSA ;gka] nks míhiuksa dks ckj&ckj tksM+k tkrk 
gSA

	 ,d míhiu dh çLrqfr ,d Nfo] fopkj] 
;k dqN çfØ;k dks nwljs míhiu dk 
çfrfufèkRo djrh gS] rc Hkh tc bls 
çLrqr ugha fd;k tkrk gSA tc nks ls 
vfèkd míhiu çLrqr fd, tkrs gSa] rks  
laiw.kZ míhiu lac¼ gks ldrs gSaA

139.	 fodYi (4) mfpr gSA
O;k[;kµHkk"kk f'k{kd dks fo|kfFZk;ksa esa ys[ku 
dkS'ky dk fodkl djus ds fy, fuEu ckrksa 
dk è;ku j[kuk pkfg,µ
(i)	 ys[ku dYiuk'kfDr o l`tu'kfDr ls 

fd;k gksA
(ii)	 fopkjksa dh vfHkO;fDrA
(iii)	 ekSfyd fopkjksa dh vfHkO;fDr gksuk 

vkfnA

	 Nk=ksa ds ekSfyd fopkjksa dh vfHkO;fä ls gSA
	 Nk=ksa dh dYiuk'kfä vkSj l`tu'kfä ls gSA
	 Nk=ksaa dh Hkk"kk 'kSyh vkSj jpukRed ;ksX;rk 

ls gSA
	 Nk=ksa dh fpUru fØ;k vkSj fopkjksa ds laxBu 

ls gSA
140.	 fodYi (2) mfpr gSA

O;k[;kµçkFkfed Lrj ij fp= o.kZu muds 
vuqefud dkS'ky dks fodflr djrk gSA fp=ksa 
ls lh[kus&fl[kkus dh çfØ;k jkspd cu tkrh 



102�  Oswaal CTET Year-wise Solved Papers

gS rFkk Hkko&Hkafxekvksa dks le>kus esa Hkh 
en~nxkj gksrh gSA fp= o.kZu ls cPpksa dh 
dYiukRed 'kfDr;ksa dk Hkh fodkl gksrk gSA

	 çkFkfed Lrj ij iBu lkexzh esa fp=ksa dk 
egÙo&
n	 dforkvksa] dgkfu;ksa dks fp=ksa ds vkèkkj 

ij vuqeku yxkdj i<+us esa vklkuh 
gksrh gSA

n	 fp= cPpksa dks lh[kus&fl[kkus dk 
okrkoj.k çnku djrs gSaA

n	 dfBu çR;;ksa dks jkspd cukus esaA
n	 fp= 'kSf{kd okrkoj.k dks cukus esa enn 

djrs gSaA
n	 fp=ksa ds ekè;e ls voèkkj.kk dks le>uk 

ljy o xzká gks tkrk gSA
n	 ;g fo"k; lkexzh dks fo'ysf"kr djus dk 

dke djrs gSaA
n	 lanHkZ ds udkjkRed o ldkjkRed nksuksa 

igywvksa dk Kku djkus esaA
n	 Hkko&Hkafxekvksa dks le>kus esaA
n	 xaHkhj lkekftd leL;kvksa dks ljyrk 

ls mtkxj djds cPpksa dks tkxzr djus 
esaA

n	 fp=ksa ls cPpksa ds dYiukyksd ds jaxksa 
rFkk vk—fr;ksa dks igpku feyrh gSA

141.	 fodYi (1) mfpr gSA
O;k[;kµf'k{kd dks d{kk esa lEçs"k.kkRed 
dk;Z ls lajpukvksa dks laca¼ djuk vko';d 
gksrk gS ftlls cPps cgrj çn'kZu dj ldsaA 
lHkh xfrfofèk;ksa dks okLrfod nqfu;k ls 
tksM+uk vfHkok;Z gksrk gS rkfd cPps mldk 
ç;ksx lgh çdkj ls dj ldsaA

	 Hkk"kk f'k{k.k ,d ,slh çfØ;k dks lanfHkZr 
djrk gS ftlds }kjk ,d cPpk fdlh 
Hkk"kk ij laçs"k.kh; le> ;k çokg 
çkIr djrk gSA blesa f'k{kkfFkZ;ksa }
kjk vH;kl 'kkfey gS tgka ,d f'k{kd  
}kjk lqfoèkk çnku dh tkrh gS vkSj laçs"k.
kkRed dk;Z ls lajpukvksa dks laca¼ fd;k 
tkrk gSA Hkk"kk f'k{k.k ds dbZ rjhds gSa vkSj 
lapkjh n`f"Vdks.k ;k laçs"k.kkRed {kerk muesa 
ls ,d gSA

	 lapkj n`f"Vdks.k ;k laçs"k.kkRed {kerk Hkk"kk 
ds dk;kZRed ekWMy ds voèkkj.kkvksa ls tqM+k 
gS D;ksafd ;g&
n	 Hkk"kk dk;kZRed vFkks± dh vfHkO;fä vkSj 

okLrfod nqfu;k dh xfrfofèk;ksa dks djus 
dk ,d ekè;e gSA

n	 f'k{kkfFkZ;ksa dks okLrfod thou dh 
fLFkfr;ksa dk lkeuk djus ds fy, 
çksRlkfgr djrk gSA

n	 O;kdjf.kd lajpukvksa ds ctk; lapkj 
ij dsafær gSA

n	 okLrfod lanHkZ esa Hkk"kk ds dk;kZRed 
mi;ksx ij tksj nsrk gS A

n	 f'k{kkfFkZ;ksa dks lkFkZd vkSj çkekf.kd 
lapkj xfrfofèk ds fy, rS;kj djrk gSA

n	 y{; Hkk"kk esa vFkZiw.kZ <ax ls laokn djus 
ds fy, Hkk"kk ds ç;ksx ij cy nsrk gSA

n	 ;g lekt esa lekt esa csgrj çn'kZu ds 
leFkZ cukrk gSA

142.	 fodYi (2) mfpr gSA
O;k[;kµfunsZf'kZr jpuk lkekU;r% vkjafHkd 
Lrj ij çLrqr djuh pkfg, blesa cPpksa 
dks le>k dj fy[kus dks dgk tkrk gSA 
;g çkFkfed d{kk ds ckydksa ds fy, gksrh 
Fkh ftlls og fcuk Mjs vè;kid ds funsZ'k 
lqudj viuk dk;Z lEiw.kZ djrs gSaA

	 ekè;fed Lrj ij fyf[kr vfHkO;fä ds 
fodkl ds fy, lkekU;r% funsZf'kr jpukvksa 
ij cy fn;k tkrk gS]

	 jpuk dh fo"k; lkexzh ij fo|kfFkZ;ksa ds 
lkFk ppkZ dh tkrh gS fd og jpuk fdl 
çdkj fy[kh tk, vkSj bl n`f"V ls mldh 
:ijs[kk ns nh tkrh gSA

	 ifjfpr fo"k; lkexzh vkSj fufnZ"V :ijs[kk 
ij vkèkkfjr bl çdkj dh jpuk dks fufnZ"V 
jpuk dgrs gSaA tSls&i=&çi= ys[ku

	 ;g ys[ku dkS'ky fodflr djus dk 
vkjafHkd Lrj gSA

	 blds ckn ys[ku dkS'ky esa n{krk ykus ds 
fy, ckydks dks eqä ;k Lora= jpuk nh 
tkrh gSaa] ftlesa ys[kd LosPNkuqlkj 'kCnksa dk 
p;u dj fo"k;oLrq dks la;ksftr djrk gSA

143.	 fodYi (3) mfpr gSA
O;k[;kµxgu iBu dk mís'; fuEufyf[kr 
gksrk gSµ
(i)	 xgjkbZ ls le>kus ds fy,
(ii)	 lEiw.kZ tkudkjh nsus ds fy,
(iii)	 lwpuk ds fy,
(iv)	 vkuan ds fy, i<+uk

	 ekSu iBu] iBu dk ,d çdkj ftlesa 
fyf[kr lkexzh dks fcuk vkokt fd, HkkokFkZ 
dks le>rs gq, i<+uk 'kkfey gksrk gSA ;g nks 
çdkj dk gksrk gS&
n	 xgu iBuµblds foijhr] xgu i<+us 

dk lacaèk d{kk lh[kus ls gS] ftlesa Nk= 
dks fo"k; dks xgjkbZ ls le>us ds fy, 
dbZ ckj dqN ikB i<+us ds fy, etcwj 
fd;k tkrk gSA

n	 fo'ks"k rF;ksa dks le>us ds fy, xgu 
iBu dh vko';drk gksrh gS] tSls fdlh 
fo'ks"k lwpuk dh tkudkjh ds ckjs esa 
i<+ukA

	 ukSdjh lacaèkh foKkiu esa nh x;h lwpuk dk 
iBu blds vUrxZr vkrk gSA

144.	 fodYi (3) mfpr gSA
O;k[;kµcgqHkkf"kdrk dk vFkZ vusd Hkk"kkvkssa 
dk ç;ksx djukA çkFkfed Lrj ij vè;kid 
dks cgqHkkf"kdrk dk bLrseky djuk pkfg, 
ftlls dksbZ Hkh ckyd Lo;a dks fiNM+k gqvk 
u le>sA d{kk esa lHkh fo|kfFkZ;ksa dks ,d 
leku i<+us ds fy, vè;kid dks cgqHkkf"kd 
gksuk pkfg,A

	 ;fn ge viuh d{kkvksa esa cgqHkk"kh fofoèkrk 
dh ljkguk djuk 'kq: dj nsa] rks ge 
lekurk] lkekftd U;k; vkSj lfg".kqrk ds 
ekxZ dk vuqlj.k djus esa l{ke gks ldrs gSaA

	 ,d Hkk"kk f'kf{kdk viuh d{kk esa ,d lalkèku 
ds :i esa cgqHkk"kkokn dk mi;ksx djus esa 
egÙoiw.kZ Hkwfedk fuHkk ldrh gSA pkgs og 
dksbZ dfork i<+k jgh gks ;k O;kdj.k] og 
vuqokn ds ekè;e ls viuh d{kk ds cPpksa 
ls dbZ Hkk"kkvksa dk MsVk çkIr dj ldrh gSA

	 ,d ckj cksMZ ij dbZ Hkk"kkvksa dk MsVk gksus 
ds ckn] cPps Hkkjrh; Hkk"kkvksa esa lekurk,a 
ns[k ldsaxs vkSj vius fu;eksa dks lkekU; 
cuk ldsaxsA

	 blds fy, f'k{kkfFkZ;ksa ds ifjos'k esa cksyh 
tkus okyh Hkk"kkvkssa dk ç;ksx djkdj 
cgqHkkf"kd okrkoj.k dk fuekZ.k dj ldrs gSaA

	 ,slh d{kk yksdrkaf=d gksxk D;ksafd dbZ 
Hkk"kkvksa dk çfrfufèkRo gksrk gS vkSj dksbZ Hkh 
Hkk"kk ekud Hkk"kk ds :i esa 'kfä'kkyh fLFkfr 
ugha ysrh gSA

	 gekjh d{kkvksa esa cgqHkk"kkokn u;k vkn'kZ 
gksuk pkfg,A

145.	 fodYi (1) mfpr gSA

O;k[;kµiBu f'k{k.k'kkL= iBu dk vFkZ 
xzg.k djus dk leFkZu djrk gSA blls 
fo|kfFkZ;ksa dh dYiukRed n`f"V] vuqekfud 
dkS'ky] lkFkZdrk dk fodkl gksrk gSA dsoy 
i<+uk gh ugha bldk vFkZ tkuuk Hkh t:jh 
rkfd o yEcs le; rd ckyd dks ;kn jgs 
o og mls Hkkouk,¡ le> ldsaA

	 i<+uk vFkok iBu Hkk"kk ds pkj dkS'kyksa 
esa ls ,d gSA ;g ,d lkFkZd] mís';iw.kZ   
,oe~ fparu çèkku çfØ;k gS tks iBu ds 
nkSjku vFkZ xzg.k rFkk vuqefud dkS'ky dks 
fodflr djrh gSA

146.	 fodYi (4) mfpr gSA

O;k[;kµçR;sd lH;rk esa dgkfu;k¡ ikbZ 
tkrh gSa D;ksafd og euq"; ds fny rFkk 
fnekx dks tksM+us dk dke djrh gSaA blls 
mldh :fp cuh jgrh gSA Hkk"kk vfèkxe ds 
fy, f'k{kkfFkZ;ksa dks dgkuh lqukuk lgh gS 
ftlls og mldks vius okLrfod thou esa 
<ky dj çsfjr gks ldsaA blls fcuk dfBukbZ 
ds ckyd fd O;kdj.k rFkk Hkk"k.k dkS'ky 
dk Hkh fodkl gksxkA

	 dgkuh f'k{k.k&vfèkxe çfØ;k dk çHkkoh 
midj.k gS tks f'k{kkFkhZ ds iBu fodYiksa dks 
O;kid cukrk gSA

	 Hkk"kk dh d{kk esa dgkuh lqukus dk eq[; 
mís'; gksrk gS cPpksa dh dYiuk 'kfä dk 
fodkl djuk gSA

	 ;g çkFkfed Lrj ij f'k{k.k dh ,d fofèk 
ds :i esa çHkkoh :i ls mi;ksx fd;k tkrk 
gS vkSj f'k{kkfFkZ;ksa dks ,d çklafxd f'k{k.k 
okrkoj.k çnku djrk gSA
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	 ;g nqfu;k dh çÏfr dh dYiuk vkSj 
vUos"k.k djus dh {kerk dks c<+kok nsrk gSA

	 ;g mUgsa vius Lo;a ds vuqHkoksa ds vkèkkj ij 
vFkZ dk fuekZ.k djus esa l{ke cukrk gSA

	 Hkk"kk dh d{kk esa dgkuh lqukus ds vU; 
mís';&
n	 dYiuk] jpukRedrk] lfØ; Hkkxhnkjh 

vkSj lquus ds dkS'ky ds mi;ksx dks 
çksRlkfgr djuk

n	 fopkjksa vkSj Hkkoukvksa dks laçsf"kr djus 
ds fy, cPpksa dh bPNk dks c<+kuk

n	 nqfu;k dh çÏfr dh dYiuk djus vkSj 
mldk irk yxkus dh {kerk dks c<+kok 
nsrk gS

n	 nqfu;k Hkj dh laL—fr;ksa ds varj vkSj 
lkekU;rkvksa dks çdV djuk

n	 HkykbZ vkSj foJke dh Hkkouk dks c<+kok 
nsuk

n	 lfØ; Hkkxhnkjh dks çksRlkfgr djuk
n	 ekSf[kd çoh.krk dks c<+kuk

147.	 fodYi (3) mfpr gSA
O;k[;kµiwjd iBu og iBu gksrk gS ftlesa 
ikB ls tqM+h lHkh tkudkjh la{ksi esa gksrh gSaA 
bls i<+dj fo|kFkhZ ekufld :i ls iBu 
ds fy, rS;kj gks tkrk gSA blls cPpksa dks 
Lo;a fo'ys"k.k rFkk fo"k; le>us esa enn 
feyrh gSA

	 iwjd iBu lkexzh ds mís'; fuEufyf[kr gSa&
n	 cPpksa dks fo"k; le>us esa enn feyrh gS
n	 vè;kid dks f'k{k.k esa lgk;rk djrh gS
n	 cPpksa dks Lo;a fo'ys"k.k djus esa lgk;d 

gksrh gS
n	 cPpksa dks f'k{kk dh vU; foèkkvksa ls 

tksM+us esa lgk;d

n	 ckydks esa iBu laLÏfr dks c<+kok nsuk
n	 ckydks esa foLrkj ls i<+us dh vknr 

Mkyuk
148.	 fodYi (4) mfpr gSA

O;k[;kµdfork dh d{kk esa fuEufyf[kr 
ckrksa ij è;ku j[kuk pkfg, tSlsµ
(i)	 dkO; lkèkuksa dk bLrseky djukA
(ii)	 fopkjksa dks lgh çdkj ls n'kZukA
(iii)	 fiNys vuqHkkoksa dks orZeku ls tksM+ukA
(iv)	 rdcanh ij è;ku j[kuk vkfnA

	 dfork f'k{k.k esa rqdcanh ds lkFk 
HkkokfHkO;fä o dfork dk Hkko o lkSUn;Z 
xzg.k djuk egÙoiw.kZ gksrk gS] vr%
n	 dfork vkèkkfjr ppkZ dfork ds fopkjksa 

vkSj Fkhe ij gks ldrh gSA
n	 rqdcanh ij gks ldrh gSA
n	 dkO; lkèkuksa ij gks ldrh gSA

149.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk cksyus okyksa esa nwljh Hkk"kkvksa 
dk feyuk] mldk ç;ksx djuk lkekU; gS 
D;ksafd buls ladsr cnyus rFkk mldks Bhd 
ls le>us esa enn gksrh gS bldk ç;ksx 
cksyus o fy[kus nksuksa esa gksrk gSA

	 tc Hkk"kk oäkvksa ds }kjk Hkk"kkvksa dk ç;ksx 
djrs le; vU; Hkk"kkvksa ds 'kCnksa vkSj 
okD;ksa dks xzg.k fd;k tkrk gS] rks bls ladsr 
ifjorZu vkSj ladsr feJ.k dgrs gSaA

	 blesa fdlh vU; Hkk"kk dk 'kCn nwljh Hkk"kk 
ds mi;ksx esa yk;k tkrk gSA blls fdlh 
fo"k; dks le>us esa vklkuh gksrh gSA

	 tSls&fgUnh Hkk"kk esa vU; Qkjlh] vjch 
;k mnwZ Hkk"kkvksa dk mi;ksx ge lkekU;r;k 
djrs gSa] ftls le>us esa gesa dksbZ leL;k 
ugha gksrh gSA

	 bl rjg ls vU; Hkk"kkvksa ds 'kCnksa 
vkSj okD;ksa dk mi;ksx vU; Hkk"kkvksa esa 
lkekU;r;k ns[kk tkrk gSA vaxzsth ds dbZ 
'kCnksa dks fgUnh esa lkekU;r;k mi;ksx fd;k 
tkrk gSA tSls & cksj gksukA

	 ;g ,d rjg dk ladsrèHkk"kk feJ.k gS] 
ftlesa nks Hkk"kkvksa ds 'kCnksa dk mi;ksx fd;k 
tkrk gS ;k ,d Hkk"kk ds 'kCnksa dk mi;ksx 
nwljh Hkk"kk esa fd;k tkrk gSA

	 bl rjg dk mi;ksx cksyus vkSj fy[kus nksuksa 
esa gh gksrk gSA ;s nksuksa gh vfHkO;äkRed 
dkS'ky gSaA

150.	 fodYi (2) mfpr gSA
O;k[;kµmipkjkRed f'k{k.k og f'k{k.k 
gS tks ijh{kk ds ckn fd;k tkrk gSA blesa 
cPpksa ls dh xbZ =qfV;ksa ij è;ku fn;k tkrk 
gSA xyfr;k¡ ckyd djrk ij og f'k{kdksa 
ds f'k{k.k esa dfe;ksa dks Hkh n'kkZrk gSA 
mipkjkRed dk;Z gksuk vfr vko';d gS 
ftlls ckyd viuh {kerkvksa dks tkurk gS 
rFkk lgh ekxZ ij ç'kLr gksrk gSA

	 mipkjkRed f'k{kk ds çeq[k mís';&
n	 dkS'kyksa ds vfèkxe çfØ;k ds nkSjku 

=qfV;ksa dks lqèkkjukA
n	 Nk=ksa dk fiNM+kiu nwj djukA
n	 Hkk"kk ç;ksx lacaèkh dfBukbZ;ksa dks 

igpkudj mudk funku djukA
n	 leqfpr fn'kk esa fodkl dk ekxZ ç'kLr 

djuk
n	 lekt ls LohÏr vknrksa dk ifjektZu 

djuk
n	 fo"k; fo'ks"k dks lh[kus esa v{kerkvksa dks 

nwj djuk


